RESOLUTION NUMBER: 6485-2022

CITY OF SEBASTOPOL

A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF SEBASTOPOL AUTHORIZING A BUDGET AMENDMENT FOR FIRST STREET WATER MAIN REPLACEMENT PROJECT (CIP PROJECT #0818-20.09)

WHEREAS, additional budget is needed to fund the total cost of construction of the First Street Water Main Replacement Project, which includes construction, construction management and inspection (CM); and

WHEREAS, a budget amendment to the Fiscal Year 2022-23 adopted CIP budget is needed to incorporate changes due to unforeseen field conditions to the proposed expenditures and funding sources; and

WHEREAS, the Council adopted the Fiscal Year 2022-23 Capital Improvement Budget for the First Water Main Replacement Project #0818-20.09 for construction and inspection in the amount of \$300,000.

NOW, THEREFORE, BE IT RESOLVED that the City Council of the City of Sebastopol does hereby approve a budget amendment for the First Street Water Main Replacement Project (CIP Project #0818-20.09) from \$300,000 to \$325,000 from the Water Capital Fund 501.

The above and foregoing Resolution was duly passed, approved, and adopted at a meeting by the City Council on the 1st day of November 2022.

I, the undersigned, hereby certify that the foregoing Resolution was duly adopted by City of Sebastopol City Council following a roll call vote:

VOTE:

Ayes: Councilmembers Glass, Gurney, Rich, Vice Mayor Hinton and Mayor Slayter

Noes: None Absent: None Abstain: None

APPROVED: Mayor Patrick Slayter

ATTEST: 📏

Mary Gourley, Assistant City Manager/City Clerk, MMC

APPROVED AS TO FORM:

Larry McLaughlin, City Attorney

CONTRACT CHANGE ORDER

Order No. 2

Date: October 14, 2022

		State:	California	
CONTRACT FOR:				
	City Contra	act No. 2021.02		
OWNER:	City of Sebastopol			
To:	Piazza Construction			
	(CONTRACTO	R)		
	You are hereby requested to comply with the following char	nges from the contr	act plans and specificat	tions:
	Description of Changes		DECREASE	INCREASE
	(SUPPLEMENTAL PLANS AND SPECIFICATIONS ATTAC	CHED)	in Contract Price	in Contract Price
PCO 02b	Additional potholing for Water			\$10,314.46
PCO 03	Remove existing abandoned steel pipe			\$1,789.38
PCO 04	CDF backfill for unstable trench/pea gravel			\$3,622.50
PCO 05	New tee, gate valve, and hydrant run			\$23,781.75
PCO 06	Missed water service replacement and hot tap			\$4,088.81 \$5,115,17
PCO 07 PCO 08	Expose and remove existing valve Pothole recompact and pave outside trench			\$5,115.17 \$5,191.14
Qty Under-run				(\$22,008.00)
Qty Onder-run	Add 1EA bid item 11 - 3/4" water service			\$2,280.00
Qty Over-run	Add TEA bid item 11 - 5/4 Water service			Ψ2,200.00
		TOTALS	\$0.00	\$34,175.21
	NET CHANGE IN CO	ONTRACT	*	\$34,175.21
of the water main a he water main is o	r consists of two Potential Change Orders (PCO's): Tempora and water services in Jewell was not known at bid time and v on where the water service is located, requiring temporary was on of the water main also changed the location of the tie to the	was different than s ater service connec	hown on the plans. The	revised location of
Γhe amount of th	ne Contract will be INCREASED by the sum of:			
Thirty Four Tho	ousand One Hundred Seventy Five and 21/100****	*******	Dollars	\$34,175.21
The Contract To	tal including this and previous Change Orders will be:	Two Hundred F	ifty Five Thousand	
Six Hundred ar	nd Five dollars and 42/100 ***********************************	*******	Dollars	\$255,605.42
Original Contract	t Completion Date:		September 6, 2022	
	oved additional Days		0	
	added due to this Change Order		10	
=	mpletion date including this and previous Change Ord	ers:	September 6, 2022	
Γhis document w	vill become a supplement to the contract and all provis	ions will apply he	reto.	
Approved:	Ci	ty of Sebastopol		
		(Owner)		(Date)
Reviewed:	Ci	ty of Sebastopol		
toriowed.		(Owner's Engine	er)	(Date)
	Tim Winter		,	,
Recommended:	Jan Wines	GHD		October 14, 2022
	Jim Winter	(Owner's Engine	er)	(Date)
equipment, furnis change order, pa	ned contractor, have given careful consideration to the sh the materials, except as may otherwise be noted ab ayment will be made as set forth in the Contract and in shall constitute full compensation for all work included	ove. Upon acce accordance with	ptance by the Contra this contract change	ctor of this contract
Accepted:		Piazza Construct	ion	
wooepieu.		(Contractor)		(Date)

Page 2 of 47



General Engineering Contractor

Lic. No. 406456 • P.O. Box 573 • Penngrove • CA 94951 • (707) 876-3410

City of Sebastopol July 27, 2022

714 Johnson Street Sebastopol, CA 95472

Project Name: First Street Water Main - Additional Potholing

Invoice No.: 2022-512-100

Date	Description	Bill No.	Amou	nt
6/15/2022	Pothole For Water, Water Services And Storm Drain / Backfill	4.0	2,7	740.28
6/16/2022	Pothole For Water, Water Services And Storm Drain / Backfill	5.0	5,7	716.38
	Potholing Missing Water Service / Pothole Additional Location At 10"			
6/20/2022	Water On First St	6.0	1,8	357.80
	Total Due		\$ 10,3	314.46

Additional contract days requested: 3

James A. Piazza
Piazza Construction

Work Performed By: Pia	RST ST - First Street Wa	·					Contract:	512		Change Or Billing Num Report Dat Perform Da	ber e	002 4.0 6/30/2022 6/15/2022
Labor Charges											_abor Cha	rges
Craft/Level	Employee Name		RT Hrs	OT Hrs	Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor		1,284.58
L01 OE O1	J Piazza Jr		4.00			85.850			343.400	sc	10.00%	128.46
L02 OE O4	B Centeno		4.00			81.460			325.840	OT Labor		0.00
L03 OE 14	M Pastrana		4.00			60.150			240.600			
L04 OE 14	DR Urrutia-Albavera		4.00			60.150			240.600	Subtotal L	abor	1,413.04
L05 OE 09	JV Villagomez		2.00			67.070			134.140	Subsisten		0.00
Equipment Charg	166									Other Exp		0.00
Equipment ID	Class Make Model	A1 A2	RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended	MU	15.00%	<u>211.96</u>
E01 PT01	TRUCK T&TT 06-12		4.00			28.650		-	114.600			1,625.00
E02 PT07	TRUCK T&TT 06-12		4.00			28.650			114.600	Labor Tota	ĮI	1,025.00
E03 DT08	TRUON TRUN 2AXL		2.00			51.070			102.140	Ec	juipment (-
E04 VT01	VACDB VACM S4000		4.00			121.550			486.200	Subtotal		817.54
Material/Specialis	st Work/Lump Sum or l	Jnit Price Payment								MU	15.00%	<u>122.63</u>
Number	Date Vendor Name and D					Un	nits	Unit Price	Extended	Equipmen	Total	940.17
M01 00	6/15/2022 Piazza Construct	ion / Cutback				4.00	00 EA	20.00000	80.00		Material C	harges
M02 00	6/15/2022 Piazza Construct	ion / Sand - 2 Tons				2.00	00 EA	36.13500	72.27	Subtotal		152.27
										MU	15.00%	22.84
										Material To	otai	175.11
										Activity To	tal	2,740.28
										Work Tota	I	2,740.28
										Bill Subtot	al	2,740.28
	For Owner/Resident Engi	ineer's Use Only		A	Accepted:							
New Bill	Approved for Payment	Date of Action:			Customer:			Date:				
				-								
Resubmitta	Returned for Correction	Date Received:			Contractor:			Date:		Bill Total	Page 4	of24740.28



	ne Extra - Potholisor 6-15-22			Down Lunch 12-12:30 Work End Time	
mploy	ees	Hours	Emplo	rees	Hours
00	James Piazza, Sr.		21	David Schaefer	
01	Joe Bell		23	Jose Galvez	
02	Mitch Starkey		24	Vince Carmona	
03	Jared Piazza		26	Salvador Carmona	
04	Cary Hendrickson		27	Craig Soto	
06	Joe Matassarin		29	Jacob Pierce	
07	James Piazza, Jr.	14	32	Dante Fountain	
9.0	Joel Piazza		33	Andy Cheda	4
10	Bobby Centeno	4	35	Max Cerini	11
11	David Garrigus		37	MANNIER Mauricio P	4
12	John Anderson		38	Jose Garcia	
14	Rebhey Hammoudeh		39	Gary Engelke	
15	Austin Ecklund		42	David Urrutia-Albavera	14
15 16	Kody Starkey als & Credit Card Purchases:	Back om Stock	42 43 Notes	Juan Villagomez	4 2
15 16 lateria	Kody Starkey Als & Credit Card Purchases: Bags of cut C Ton of Sand from	om Stock	Notes	Juan Villagomez	à
15 16 ateria 2	Kody Starkey Als & Credit Card Purchases: Bags Of Cut B Ton of Sand from		Notes Equip	Juan Villagomez	
ateria 2 Juipm	Kody Starkey Als & Credit Card Purchases: Bags of cut of Sand from of Sand from of Sand from the Backhoe	om Stock	Notes Equip	Juan Villagomez nent 2 Axle Dump	à
ateria Q quipm	Kody Starkey Als & Credit Card Purchases: Bags Of Cut B Ton of Sand from ent Backhoe Excavator	om Stock	Notes Equip DT DT	Juan Villagomez nent 2 Axle Dump 3 Axle Dump	Hours
15 16	Kody Starkey Als & Credit Card Purchases: Bags of cut of Sand from of Sand from of Sand from the Backhoe	om Stock	Notes Equip	nent 2 Axle Dump 3 Axle Dump Crew Truck	Hours 4
ateria	Kody Starkey Als & Credit Card Purchases: Bags Of Cut B Ton of Sand from ent Backhoe Excavator	om Stock	Notes Equip DT DT	Juan Villagomez nent 2 Axle Dump 3 Axle Dump Crew Truck PTO 1	Hours 4
ateria	Kody Starkey Als & Credit Card Purchases: Bags Of Cut B Ton of Sand from ent Backhoe Excavator	om Stock	Notes Equip DT DT	Juan Villagomez nent 2 Axle Dump 3 Axle Dump Crew Truck PTO I PTO 7 DTO8	Hours 4 4 2
ateria	Kody Starkey Als & Credit Card Purchases: Bags Of Cut B Ton of Sand from ent Backhoe Excavator	om Stock	Notes Equip DT DT	Juan Villagomez nent 2 Axle Dump 3 Axle Dump Crew Truck PTO 1	Hours 4

Timecards and tags can be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due the following Wednesday.

Page 5 of 47

Work Performed by Phazza Construction Secretary Phazza Construction Secretary	City Of Sebasto	pol						Contract:	512				002
Description of Work Potholic For Water, Water Services And Storm Drain / Backellis Sate	Contractor Job: FI	RST ST - First Street Wa	atermain Replacemer	nt							_		5.0
Labor Charges													
Control District Proper Name RT Hon OT Has Subs Rate Estendade Tit Labor 2,569,16	Description of Work: Po	othole For Water, Water Service	es And Storm Drain / Back	Ktill 							Perform D)ate	6/16/2022
Display	Labor Charges										1		
DEC DC 4 B Centeno						Subs Units			Subs Rate		RT Labor	r	
March Marked Ma	L01 OE O1	J Piazza Jr		8.00	1.00		85.850	112.810		799.610	SC	10.00%	256.92
Material Total Port Unrulia-Albavera 8.00 1.00 60.150 77.155 558.355 5		B Centeno		8.00	1.00		81.460	106.225		757.905	OT Labor	r	373.35
Section Sect		M Pastrana		8.00				77.155		558.355	sc	10.00%	37.34
Compared Charges Equipment Charges Equipment Charges Equipment Charges Equipment Charges Equipment Charges Equipment D class Make Model A1 A2 RT Hrs OT Hrs RT Rate OT Rate Delay Factor Estended A2 A5 A5 A5 A5 A5 A5 A5		DR Urrutia-Albavera		8.00	1.00		60.150	77.155		558.355	Subtotal	Labor	3,236.77
Class Malke Model A1 A2 RT Hrs OT Hrs RT Rate OT Rate Delay Factor Extended	L05 OE 09	JV Villagomez		4.00			67.070			268.280	Subsister	nce	0.00
Class Malke Model A1 A2 RT Hrs OT Hrs RT Rate OT Rate Delay Factor Extended	Equipment Char	ges									Other Ex	penses	
For TRUCK T&TT 06-12 9.00 28.650 257.850 2			A1 A2	RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended			
Fig. TRUCK T&T 06-12 9.00 28.650 257.850	E01 PT01	TRUCK T&TT 06-12		9.00			28.650			257.850	Labor To	tal	·
Material/Specialist Work/Lump Sum or Unit Price Payment Date Vendor Name and Description Units Unit Price Extended Equipment 1,946.24 Mul 15.00% 253.86 Mul 15.00% 363.87 Mul 15.00%	E02 PT07	TRUCK T&TT 06-12		9.00			28.650			257.850			
Material/Specialist Work/Lump Sum or Unit Price Payment Number Date Vendor Name and Description Units Unit Price Extended Equipment Total 1,946.24 Subtotal 41.61 Mul 15.00% 253.86 Equipment Total 1,946.24 Material Charges Subtotal 41.61 Mul 15.00% 6,224 Material Total 47.85 Mul 15.00% 253.86 Equipment Total 41.61 Mul 15.00% 6,224 Material Total 47.85 Mul 15.00% 6,224 Mul	E03 DT08	TRUON TRUN 2AXL		4.00			51.070			204.280	E	quipment	-
Number Date Vendor Name and Description Units Unit Price Extended Equipment Total 1,946.24 Not 100 6/15/2022 Plazza Construction / 3/8" Chips 2.000 EA 20.80500 41.61 M/U 15.00% 6.24 Material Total 47.85 Material Total 47.85 Material Total 47.85 Material Total 5,716.38 Mork Total 5,716.38 Mork Total 5,716.38 Mork Total 4.000	E04 VT01	VACDB VACM S4000		8.00			121.550			972.400	1		
Number Date Vendor Name and Description Units Unit Price Extended	Material/Speciali	ist Work/Lump Sum or I	Unit Price Payment										·
Mot 00 6/15/2022 Piazza Construction / 3/8" Chips 2.000 EA 20.80500 41.61 Mul 15.00% 6.24	-	•	-				U	Inits	Unit Price	Extended	Equipmen	nt Total	1,946.24
Subtotal	M01 00	6/15/2022 Piazza Construct	tion / 3/8" Chips				2.0	000 EA		41.61		Material C	harges
M/U 15.00% 6.24 Material Total 47.85 Activity Total 5,716.38													-
Material Total 47.85 Activity Total 5,716.38 Work Total 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Date												15 00%	
Activity Total													
Work Total 5,716.38 Bill Subtotal 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Customer: Date:											Materiai	ıotai	47.00
Work Total 5,716.38 Bill Subtotal 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Customer: Date:													
Work Total 5,716.38 Bill Subtotal 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Customer: Date:													
Work Total 5,716.38 Bill Subtotal 5,716.38													
Work Total 5,716.38 Bill Subtotal 5,716.38													
Work Total 5,716.38 Bill Subtotal 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Customer: Date:													
Work Total 5,716.38 Bill Subtotal 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Customer: Date:													
Bill Subtotal 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Customer: Date:											Activity T	otal	5,716.38
Bill Subtotal 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Customer: Date:													
Bill Subtotal 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Customer: Date:													
Bill Subtotal 5,716.38 For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Customer: Date:													
For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Accepted: Customer: Date:											Work Tot	tal	5,716.38
For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Accepted: Customer: Date:													
For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Accepted: Customer: Date:													
For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Accepted: Customer: Date:													
For Owner/Resident Engineer's Use Only New Bill Approved for Payment Date of Action: Accepted: Customer: Date:											Bill Subto	otal	5,716.38
New Bill Approved for Payment Date of Action: Customer: Date:		For Owner/Resident Eng	ineer's Hee Only			Accepted:							· · · · · · · · · · · · · · · · · · ·
		_	1			•			Б.				
Resubmittal Returned for Correction Date Received: Contractor: Date: Bill Total Page 6 of 51716.38	New Bill	Approved for Payment	Date of Action:		-	Customer:			Date:				
	Resubmit	tal Returned for Correction	Date Received:			Contractor:			Date:		Bill Total	Page 6	of54 7 16.38
	NTS Universal Bill Form								_ 4.0.		Page	1-uge 0	



Park I	6-16-22				Hours
Emplo 00		Hours			
01	James Piazza, Sr.		21	David Schaefer	
02	Joe Bell		23	Jose Galvez Vince Carmona	
03	Mitch Starkey Jared Piazza		24	Salvador Carmona	
04			27	Craig Soto	
06	Cary Hendrickson Joe Matassarin		29	Jacob Pierce	
07	James Piazza, Jr.	9	32	Dante Fountain	1
08	Joel Piazza		33	Andy Cheda	
10	Bobby Centeno	9	35	Max Cerini	-
11	David Garrigus		37	Mauricio D	9
12	John Anderson		38	Jose Garcia	
14	Rebhey Hammoudeh	-	39	Gary Engelke	
	Austin Ecklund	- 1	42	David Urrutia-Albavera	9
15			QUILLIANS.		
	Kody Starkey als & Credit Card Purchases: A TOM 3/4 Chips	from Stock	Notes:	Juan Villagomez	14
16 lateria	Kody Starkey als & Credit Card Purchases: A TOM 3/4 Chips	From Stock	Notes:		Hours
16 lateria	Kody Starkey als & Credit Card Purchases: A TOM 3/4 Chips		Notes:		
16 lateria	Kody Starkey als & Credit Card Purchases: a Tom 3/4 Chips		Notes:	nent 2 Axle Dump 3 Axle Dump	Hours
16 lateria luipme	Kody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe		Notes:	nent 2 Axle Dump	Hours 9
16 lateria luipme	Rody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe Excavator		Notes:	nent 2 Axle Dump 3 Axle Dump	Hours 9
16 lateria uipme	Rody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe Excavator		Notes:	2 Axle Dump 3 Axle Dump Crew Truck	Hours 9
16 lateria uipme	Rody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe Excavator		Notes:	2 Axle Dump 3 Axle Dump Crew Truck PTO 1	Hours 9
16 lateria uipme	Rody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe Excavator	Hours	Notes: Equipm DT DT PT	Axle Dump 3 Axle Dump Crew Truck PTO 1 PTO 7 DTO8 VTO 2	Hours 9 9
16 lateria	Rody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe Excavator	Hours	Notes:	Axle Dump 3 Axle Dump Crew Truck PTO 1 PTO 7 DTO8 VTO 2	Hours 9 9
16 lateria luipme	Rody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe Excavator	Hours	Notes: Equipm DT DT PT	Axle Dump 3 Axle Dump Crew Truck PTO 1 PTO 7 DTO8 VTO 2	Hours 9 9
16 lateria uipme	Rody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe Excavator	Hours	Notes: Equipm DT DT PT	Axle Dump 3 Axle Dump Crew Truck PTO 1 PTO 7 DTO8 VTO 2	Hours 9 9
16 lateria uipme	Rody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe Excavator	Hours	Notes: Equipm DT DT PT	2 Axle Dump 3 Axle Dump Crew Truck PTO 1 PTO 7 DTO8 VTO 2	Hours 9 9
16 lateria	Rody Starkey als & Credit Card Purchases: a Tom 3/4 Chips ent Backhoe Excavator Skid Steer	Subco	Equipm DT DT PT	2 Axle Dump 3 Axle Dump Crew Truck PTO 1 PTO 7 DTO8 VTO 2	Hours 9 9

Timecards and tags can be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due the following Wednesday.

Page 7 of 47

City Of Sebastope	ol						Contract:	512		Change Ord	der	002
Contractor Job: FIF	RST ST - First Street Wa	termain Replaceme	ent							Billing Num	ber	6.0
Work Performed By: Piaz		•								Report Date		6/30/2022
Description of Work: Poth	noling Missing Water Service	/ Pothole Additional Loca	ation At 10" V	Vater On I	First St					Perform Da	te	6/20/2022
Labor Charges										l	Labor Chai	
Craft ID	Employee Name		RT Hrs	OT Hrs	Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor		1,150.44
L01 OE O1	J Piazza Jr		4.00			85.850			343.400	sc	10.00%	115.04
L02 OE O4	B Centeno		4.00			81.460			325.840	OT Labor		0.00
L03 OE 14	M Pastrana		4.00			60.150			240.600			
L04 OE 14	DR Urrutia-Albavera		4.00			60.150			240.600	Subtotal La	abor	1,265.48
Equipment Charg	es			<u> </u>						Subsistenc		0.00
Equipment ID	Class Make Model	A1 A2	RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended	Other Expe	enses	0.00
E01 PT01	TRUCK T&TT 06-12		4.00			28.650			114.600		15.00%	189.82
E02 PT07	TRUCK T&TT 06-12		4.00			28.650			114.600	Labor Tota		1,455.30
E03 VT02	VACDB VTRN 800DT		4.00			30.200			120.800			-
										Eq	uipment C	_
										Subtotal		350.00
										MU	15.00%	<u>52.50</u>
										Equipment	Total	402.50
										ı	Material Ch	narges
												· ·
										Activity Tot	al	1,857.80
										Work Total	Į.	1,857.80
										Bill Subtota	al	1,857.80
	For Owner/Resident Engi	ineer's Use Only			Accepted:							
New Bill	Approved for Payment	Date of Action:			Customer:			Date:				
Resubmittal	Returned for Correction	Date Received:			0			D :		D:II T-4-7	Elecus O	4857 80
					Contractor:			Date:		BIII I OTAI	rage 8 c	of 14 \$ 57.80



mplo		OIR Start Time	100	St Schostopol T&M: Yes	
		Hours	Employ	rees	Hours
00	James Piazza, Sr.		21	David Schaefer	
01	Joe Bell		23	Jose Galvez	
02	Mitch Starkey		24	Vince Carmona	
03	Jared Piazza		26	Salvador Carmona	
04	Cary Hendrickson		27	Craig Soto	
.06	Joe Matassarin		29	Jacob Pierce	
07	James Piazza, Jr.	4	32	Dante Fountain	4
08	Joel Piazza		33	Andy Cheda	
10	Bobby Centeno	4	35	Max Cerini	1,1
22	David Garrigus		37	Mauricio P	4
12	John Anderson		38	Jose Garcia	
14	Rebhey Hammoudeh		39	Gary Engelke	-
15	Austin Ecklund		42	David Urrutia-Albavera	14
			-	David Offutia-Albavera	
16	Kody Starkey Is & Credit Card Purchases:		43 Notes:	Juan Villagomez	
16 ∕Iateria	Kody Starkey Is & Credit Card Purchases:	Hours	43 Notes:	Juan Villagomez	Hours
16 Materia	Kody Starkey Is & Credit Card Purchases:	Hours	43	Juan Villagomez	Hours
16 Materia quipmo	Kody Starkey Is & Credit Card Purchases:	Hours	Notes:	Juan Villagomez nent 2 Axle Dump	Hours
16 Nateria quipmo	Kody Starkey Is & Credit Card Purchases: ent Backhoe Excavator	Hours	Notes: Equipment	Juan Villagomez nent 2 Axle Dump 3 Axle Dump	
16 Materia	Kody Starkey Is & Credit Card Purchases: ent Backhoe	Hours	A3 Notes: Equipm DT DT	Juan Villagomez nent 2 Axle Dump 3 Axle Dump Crew Truck PTO	Hours
16 Nateria	Kody Starkey Is & Credit Card Purchases: ent Backhoe Excavator	Hours	A3 Notes: Equipm DT DT	Juan Villagomez nent 2 Axle Dump 3 Axle Dump Crew Truck PTOL OTOT	4
16 lateria quipmo	Kody Starkey Is & Credit Card Purchases: ent Backhoe Excavator	Hours	A3 Notes: Equipm DT DT	Juan Villagomez nent 2 Axle Dump 3 Axle Dump Crew Truck PTO	4
16 Nateria Quipmo	Kody Starkey Is & Credit Card Purchases: ent Backhoe Excavator		A3 Notes: Equipm DT DT	Juan Villagomez nent 2 Axle Dump 3 Axle Dump Crew Truck PTO1 PTO7	4

Timecards and tags can be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due the following Wednesday.

Page 9 of 47



General Engineering Contractor

Lic. No. 406456 • P.O. Box 573 • Penngrove • CA 94951 • (707) 876-3410

City of Sebastopol

714 Johnson Street

714 Johnson Street Sebastopol, CA 95472

Project Name: First Street Water Main - Steel Pipe Obstruction

Invoice No.: 2022-512-101

Date	Description	Bill No.	Am	nount
7/7/2022	Cut 6' Sch 40 Steel Pipe In Two Locations Obstructing New 10" Line	7.0		1,789.38
	Total Due		\$	1,789.38

Additional contract days requested: 0

James A. Piazza
Piazza Construction

City Of Sebastopo Contractor Job: 512 Work Performed By: Piaz	2 - First Street Watermai	n Replacement					Contract:	512		Change Ord Billing Numl Report Date	ber	003 7.0 7/21/2022
	6' Sch 40 Steel Pipe In Two L	ocations Obstructing New	10" Line							Perform Da		7/07/2022
Labor Charges	<u> </u>									ı	abor Cha	raes
Craft/Level	Employee Name		RT Hrs	OT Hrs	Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor		935.80
L01 OE O4	J Matassarin		2.00			84.260			168.520	sc	10.00%	93.58
L02 OE O1	J Piazza Jr		2.00			88.650			177.300	OT Labor		0.00
LO3 OE O4	B Centeno		2.00			84.260			168.520			
L04 OE 13	JJ Garcia		2.00			62.940			125.880	Subtotal La	abor	1,029.38
L05 OE O3	G Engelke		2.00			85.640			171.280	Subsistenc		0.00
L06 OE 14	DR Urrutia-Albavera		2.00			62.150			124.300	Other Expe		0.00
Equipment Charge	es									1	15.00%	<u>154.41</u>
Equipment ID	Class Make Model	A1 A2	RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended	Labor Tota	I	1,183.79
E01 EX08	HCECL DEER 85D		2.00			44.000			88.000			
E02 EX03	HCECL DEER 35ZTS		2.00			26.620			53.240	1	uipment C	_
E03 DT01A	TRUON TRUN 3AXL		2.00			67.690			135.380	Subtotal <i>MU</i>	15.00%	526.60 <u>78.99</u>
E04 DT02A	TRUON TRUN 3AXL		2.00			67.690			135.380	_		
E05 PT01	TRUCK T&TT 06-12		2.00			28.650			57.300	Equipment	lotai	605.59
E06 PT02	TRUCK T&TT 06-12		2.00			28.650			57.300	, n	Material Ch	narges
										Activity Tot	al	1,789.38
										Work Total		1,789.38
										Bill Subtota	al	1,789.38
	For Owner/Resident Engi	neer's Use Only			Accepted:							
New Bill	Approved for Payment	Date of Action:			Customer:			Date:				
Resubmittal	Returned for Correction	Date Received:			Contractor:			Date:		Bill Total P	age 11 c	of 14789.38



		rk Start Time	Ipm	Work End Time	
	loyees	Hours	Employ	ees	Hours
0	Tarrico Fidazza, St.		21	David Schaefer	
0	7.44 001		23	Jose Galvez	
0.	- Triton Starkey		24	Vince Carmona	
0.	THIS WITHOUT I		26	Salvador Carmona	
04	out y memanickatin		27	Craig Soto	
06	es e matassarini	2	29	Jacob Pierce	View in
07	THE THE PARTY OF T	2	32	Dante Fountain	
08			33	Andy Cheda	-
10		a	35	Max Cerini	
11			37	Rudy Martinez	10
12	- A THI CHILD COLO		38	Jose Garcia	2
14	- territory manimiodaden		39	Gary Engelke	12
15			42	David Urrutia-Albavera	2
16	Kody Starkey		43	Juan Villagomez	4
iatei	rials & Credit Card Purchases:		Notes:		
		Hours		nent	Hours
uipr	rials & Credit Card Purchases: ment Backhoe	Hours	Notes: Equipm DT	Axle Dump 3 axle	
uipr	ment Backhoe		Equipn	Axle Dump 3 axle	2
uipr	ment Backhoe Excavator 85 CX	Hours	Equipn DT	3 Axle Dump 3 axle 3 Axle Dump 3 axle	Hours 2 2
uipr	ment Backhoe Excavator Skid Steer	2	Equipn DT DT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck pTOI	222
uipr	ment Backhoe Excavator 85 CX		Equipn DT DT	3 Axle Dump 3 axle 3 Axle Dump 3 axle	2
uipr	ment Backhoe Excavator Skid Steer	2	Equipn DT DT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck pTOI	222
uipr	ment Backhoe Excavator Skid Steer	2	Equipn DT DT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck pTOI	222
uipr	ment Backhoe Excavator Skid Steer	2	Equipn DT DT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck PTOI PTOZ	222
uipr	ment Backhoe Excavator Skid Steer	2	Equipm DT DT PT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck PTOI PTOZ	222
uipr	ment Backhoe Excavator Skid Steer	2	Equipm DT DT PT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck PTOI PTOZ	222
uipr	ment Backhoe Excavator Skid Steer	2	Equipm DT DT PT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck PTOI PTOZ	222
uipr	ment Backhoe Excavator Skid Steer	2	Equipm DT DT PT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck PTOI PTOZ	222
uipr	ment Backhoe Excavator Skid Steer	2 2 Subce	Equipm DT DT PT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck PTOI PTOZ	222
	Backhoe Excavator 85 < x Skid Steer 35 < x	Subco	Equipm DT DT PT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck PTOI PTO2	222
uipr	ment Backhoe Excavator Skid Steer	Subco	Equipm DT DT PT	Axle Dump 3 axle 3 Axle Dump 3 axle Crew Truck PTOI PTOZ	222

Timecards and tags can be emailed to PiazzaPC03@gmail.com
Hard Copies of timecards and tags are due the following Wednesday.

Oughde



General Engineering Contractor

Lic. No. 406456 • P.O. Box 573 • Penngrove • CA 94951 • (707) 876-3410

City of Sebastopol July 27, 2022

714 Johnson Street Sebastopol, CA 95472

Project Name: First Street Water Main - Concrete Truck

Invoice No.: 2022-512-102

Date	Description	Bill No.	Amount
7/7/2022	Concrete truck on site for CDF backfill	8.0	2,328.75
7/8/2022	Concrete truck on site for CDF backfill	9.0	1,293.75
	Total Due		\$ 3,622.50

Additional contract days requested: 0

James A. Piazza
Piazza Construction

City Of Seba Contractor Job: Work Performed B Description of Work	512 - First _{y:} Piazza Cons	truction		n Replacemen	t			Contract:	512		Change Order Billing Number Report Date Perform Date	004 8.0 7/21/2022 7/07/2022
Equipment C	harges										Labor Cha	irges
Equipment ID	Class	Make	Model	A1 A2	RT Hrs	OT Hrs	RT Rate	OT Rate	Delay Factor	Extended		
E01 VM01	TBD	TBD	TBD		9.00		225.000			2,025.000		
											Equipment of Subtotal MU 15.00% Equipment Total Material C Activity Total	2,025.00 303.75 2,328.75
											Bill Subtotal	2,328.75
	For O	wner/Res	sident Engi	neer's Use Only		Accepted	<u></u>				Dill Gubiotal	2,020.70
New		proved for F	_	Date of Action:		Custom			Date:			
Res		turned for C		Date Received:		Contract	or:		Date:		Bill Total Page 14	of24328.75



00 01 02 03	James Piazza, Sr.	Start Time		Backfill T&M: Yes Lunch 12-12:30 Work End Time	
01 02 03	2moc Dianes C	Hours	Employ	ees	Hours
02			21	David Schaefer	
03	Joe Bell		23	Jose Galvez	
	Mitch Starkey		24	Vince Carmona	
	Jared Piazza		26	Salvador Carmona	
04	Cary Hendrickson		27	Craig Soto	
06	Joe Matassarin		29	Jacob Pierce	
07	James Piazza, Jr.		32	Dante Fountain	
08	Joel Piazza		33	Andy Cheda	
10	Bobby Centeno		35	Max Cerini	1
11	David Garrigus		37	MORRESIDED Weston Roads	9
12	John Anderson		38	Jose Garcia	L.L.
14	Rebhey Hammoudeh	400	39	Gary Engelke	
25	Austin Ecklund		42	David Urrutia-Albavera	
16	Kody Starkey		43	Juan Villagomez	
quipm	ent	Hours	Equip	ment	Hour
BH	Backhoe		DT	2 Axle Dump	
X	Excavator		DT	3 Axle Dump	
S	Skid Steer		PT	Crew Truck	1 9-
				Piazza Mixer truck	9
				A CONTRACTOR OF THE PARTY OF TH	
			T		
		Subc	ontracto	or	
	4				
	*				
		Work	Perforn	ned	
, u		Work	Perforn	ned Whrolen Backfill	Wow
	Truck on Site for	unstabl	e tr	ned ench, Vibrotory Backfill aucin. SS Trench was	Wow

Timecards and tags can be emailed to PiazzaPC03@gmail.com
Hard Copies of timecards and tags are due the following Wednesday.

City Of Sebas Contractor Job: Work Performed By Description of Work	512 - First Piazza Cons	truction		n Replacement				Contract:	512		Change Order Billing Number Report Date Perform Date	004 9.0 7/21/2022 7/08/2022
Equipment C	harges										Labor Cha	irges
Equipment ID	Class	Make	Model	A1 A2	RT Hrs	OT Hrs	RT Rate	OT Rate	Delay Factor	Extended		
E01 VM01	TBD	TBD	TBD		5.00		225.000			1,125.000		
											Equipment Subtotal MU 15.00% Equipment Total Material C Activity Total	1,125.00 <u>168.75</u> 1,293.75
											Bill Subtotal	1,293.75
	For O	wner/Res	sident Engi	neer's Use Only		Accepted	i:					
New		proved for F	_	Date of Action:		Custome	er:		Date:			
Resu		turned for C		Date Received:		Contracto	or:		Date:		Bill Total Page 16	of14293.75



EmployeesHoursEmployees00James Piazza, Sr.21David Schaefer01Joe Bell23Jose Galvez02Mitch Starkey24Vince Carmona03Jared Piazza26Salvador Carmona04Cary Hendrickson27Craig Soto06Joe Matassarin29Jacob Pierce07James Piazza, Jr.32Dante Fountain08Joel Piazza33Andy Cheda10Bobby Centeno35Max Cerini11David Garrigus37Max Cerini12John Anderson38Jose Garcia14Rebhey Hammoudeh39Gary Engelke	Hours
00James Piazza, Sr.21David Schaefer01Joe Bell23Jose Galvez02Mitch Starkey24Vince Carmona03Jared Piazza26Salvador Carmona04Cary Hendrickson27Craig Soto06Joe Matassarin29Jacob Pierce07James Piazza, Jr.32Dante Fountain08Joel Piazza33Andy Cheda10Bobby Centeno35Max Cerini11David Garrigus37Max Cerini12John Anderson38Jose Garcia	
Joe Bell 23 Jose Galvez	
02Mitch Starkey24Vince Carmona03Jared Piazza26Salvador Carmona04Cary Hendrickson27Craig Soto06Joe Matassarin29Jacob Pierce07James Piazza, Jr.32Dante Fountain08Joel Piazza33Andy Cheda10Bobby Centeno35Max Cerini11David Garrigus37Max Cerini12John Anderson38Jose Garcia	
03Jared Piazza26Salvador Carmona04Cary Hendrickson27Craig Soto06Joe Matassarin29Jacob Pierce07James Piazza, Jr.32Dante Fountain08Joel Piazza33Andy Cheda10Bobby Centeno35Max Cerini11David Garrigus37Max Cerini12John Anderson38Jose Garcia	4 5
04Cary Hendrickson27Craig Soto06Joe Matassarin29Jacob Pierce07James Piazza, Jr.32Dante Fountain08Joel Piazza33Andy Cheda10Bobby Centeno35Max Cerini11David Garrigus37Max Cerini12John Anderson38Jose Garcia	4 5
06Joe Matassarin29Jacob Pierce07James Piazza, Jr.32Dante Fountain08Joel Piazza33Andy Cheda10Bobby Centeno35Max Cerini11David Garrigus37Max Cerini12John Anderson38Jose Garcia	4 5
07James Piazza, Jr.32Dante Fountain08Joel Piazza33Andy Cheda10Bobby Centeno35Max Cerini11David Garrigus37Max Cerini12John Anderson38Jose Garcia	4 5
10 Bobby Centeno 35 Max Cerini 11 David Garrigus 37 Max Cerini 12 John Anderson 38 Jose Garcia	4 5
10 Bobby Centeno 35 Max Cerini 11 David Garrigus 37 John Anderson 38 Jose Garcia	- 5
John Anderson 38 Jose Garcia	1- 5
John Anderson 38 Jose Garcia	15
14 Rehhev Hammoudeh 20 Com Secolko	
39 Gary Engelke	
42 David Urrutia-Albavera	71
16 Kody Starkey 43 Juan Villagomez	3-10-2
quipment Hours Equipment	Hour
H Backhoe DT 2 Axle Dump	
X Excavator DT 3 Axle Dump	
X Excavator DT 3 Axle Dump S Skid Steer PT Crew Truck	5
Excavator DT 3 Axle Dump	5
Excavator DT 3 Axle Dump Skid Steer PT Crew Truck	5
Excavator Skid Steer DT 3 Axle Dump PT Crew Truck Piazza Mixer Truck	5
Excavator DT 3 Axle Dump Skid Steer PT Crew Truck	5
Excavator Skid Steer PT Crew Truck Piazza Mixer Truck	5
Excavator Skid Steer PT Crew Truck Piazza Mixer Truck	5
Excavator Skid Steer PT Crew Truck Piazza Mixer Truck	5
Skid Steer DT 3 Axle Dump Crew Truck Piazza Mixer Truck Subcontractor Work Performed	
Skid Steer DT 3 Axle Dump Crew Truck Piazza Mixer Truck Subcontractor Work Performed	
EX Excavator SS Skid Steer PT Crew Truck Piazza Mixer Truck Subcontractor	

Timecards and tags can be emailed to PiazzaPC03@gmail.com
Hard Copies of timecards and tags are due the following Wednesday.

Bustal Praci



General Engineering Contractor

Lic. No. 406456 • P.O. Box 573 • Penngrove • CA 94951 • (707) 876-3410

City of Sebastopol August 30, 2022 714 Johnson Street

Sebastopol, CA 95472

Project Name: First Street Water Main - Hydrant Connection

Invoice No.: 2022-512-103

Date	Description	Bill No.	,	Amount
	Remove old tee and valve, could not reconnect to abnormal 8" steel			
7/28/2022	tubing	10.0		3,962.79
8/2/2022	Excavate to remove old hydrant pipe, replace pipe, backfill and plate	12.0		6,299.45
8/3/2022	Set hydrant and box and CDF	13.0		9,015.05
8/4/2022	Remove plates and pave trench	14.0		2,244.99
8/5/2022	Form and pour sidewalk	15.0		2,259.47
	Total Due		\$	23,781.75

Additional contract days requested: 4

James A. Piazza
Piazza Construction

City Of Sebastop	ool					Contract:	512		Change Order	005	
Contractor Job: FIF	RST ST - First Street Wa	atermain Replaceme	nt							Billing Number	10.0
Work Performed By: Pia										Report Date	8/13/2022
Description of Work: Rei	move Old Tee And Valve / Cou	uld Not Reconnect To Abr	normal 8" S	teel Tubin	g					Perform Date	7/28/2022
Labor Charges										Labor Cha	
Craft/Level	Employee Name		RT Hrs	OT Hrs	Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor	0.00
L01 OE O4	J Matassarin			1.00			110.025		110.025		
L02 OE O1	J Piazza Jr			1.00			116.610		116.610	OT Labor	766.89
L03 OE O4	B Centeno			1.00			110.025		110.025	SC 10.00%	76.69
L04 OE 14	V Carmona			1.00			79.755		79.755	Subtotal Labor	843.58
L05 OE O4	A Cheda			1.00			110.025		110.025	Subsistence	0.00
L06 OE 13	JJ Garcia			1.00			80.940		80.940	Other Expenses	0.00
L07 OE 14	DR Urrutia-Albavera			1.00			79.755		79.755	<i>м</i> υ 15.00%	126.54
L08 OE 14	M Pastrana			1.00			79.755		79.755	Labor Total	970.12
Equipment Charg	ges										
Equipment ID	Class Make Model	A1 A2	RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended	Equipment (-
E01 EX05	HCECL DEER 50DZ		1.00			35.150			35.150	Subtotal	119.07
E02 EX03	HCECL DEER 35ZTS		1.00			26.620			26.620	ми 15.00%	<u>17.86</u>
E03 PT01	TRUCK T&TT 06-12		1.00			28.650			28.650	Equipment Total	136.93
E04 PT07	TRUCK T&TT 06-12		1.00			28.650			28.650	Material Cl	harges
Material/Specialis	st Work/Lump Sum or U	Jnit Price Payment								Subtotal	2,483.25
Number	Date Vendor Name and D	-				Uı	nits	Unit Price	Extended	MU 15.00%	372.49
M01 017906346	7/28/2022 Pace Supply / Pip	pe Fittings				1.0	000 LS	1,414.79000	1,414.79		2,855.74
M02 00	7/28/2022 Pace Supply / 6"	Gate Valve				1.0	000 LS	983.24000	983.24	- Material Total	2,055.74
M03 00	7/28/2022 Pace Supply / 10	Bolt Set, Epoxy				1.0	000 LS	85.22000	85.22		
										Activity Total	3,962.79
										Work Total	3,962.79
										Bill Subtotal	3,962.79
	For Owner/Resident Engi	ineer's Use Only		- /	Accepted:						
New Bill	Approved for Payment	Date of Action:			Customer:			Date:			
	ol Datumed for Correction	Date Received:									0.000.70
Resubmitta	al Returned for Correction	Date neceived:			Contractor:			Date:		Bill Total Page 19	of4702.79

CON	AZZA STRUCTION	
Job Name Supervisor	First St	7
Date 7	28-22	V
Employees		

oo Nam	e First St Jev	vell ave	. Hy	drant T&M: (Yes)	- No
ate	re First St Jev or 7-28-22 Work	Start Time	4	Lunch 12-12:30 Work End Time	
mploye		Hours			Hours
	James Piazza, Sr.	Hours	Employ	Vince Carmona	
	Joe Bell			Salvador Carmona	OT
	Mitch Starkey		27	Craig Soto	
	Jared Piazza		29	Jacob Pierce	
	Cary Hendrickson		32	Dante Fountain	
	Joe Matassarin	101	33	Andy Cheda	Tot
	James Piazza, Jr.	100	35	Max Cerini	161
	Joel Piazza	101	37	Rudy Martinez	
	Bobby Centeno	lot	38	Jose Garcia	Tor
	David Garrigus	101	39	Gary Engelke	1
	John Anderson		42	David Urrutia-Albavera	101
	Rebhey Hammoudeh		43	Juan Villagomez	
	Austin Ecklund		44	Mike Roberts	
	Kody Starkey		45	Mauricio Pastrana	or
	David Schaefer		46	Weston Roades	
	Jose Galvez		<u> </u>		
0,, w 7,, ,	s & Credit Card Purchases: TCC, 6" FLX FL 90, FL X MT Gate Valve. Igalug, 246" bolt Sets Cpor Lt CDOXY Bolts		Notes:		
		Hours	Equip	* A * A *	Hours
uipmer	nt Backhoe	Hours	DT	2 Axle Dump	110013
			DT	3 Axle Dump	
	Excavator 50		PT	Crew Truck pTo1	- 1 1
- 3	Skid Steer		1,	OFO?	1
	35cx			13101	-
		Subco	ntracto	or	
		Work F	erform	ed	
K r	MT fitting Had S		4.1		Ecmous

Timecards and tags are to be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due Wednesdays.

a Normal

8" op.

Pine Size locatio Page 20 of 47 PACE Supply Corp P.O. Box 6407 Rohnert Park,CA 94927-6407



INVOICE

INVOICE DATE	INVOICE #	PAGE
07/28/22	017906346	1 of 1

DATE SHIPPED	CUSTOMER #
07/28/22	16311-21

Branch Contact: 707-545-7101 FAX: 707-547-0751

Accounting & Credit: 855-306-5689

SHIP TO

PIAZZA CONST / FIRST ST WATERMAIN
** JOB # 511 **
PO BOX 573
PENNGROVE CA 94951-0573

PIAZZA CONST / FIRST ST WATERMAIN LELAND ST & JEWELL AVE. SEBASTOPOL, CA 95472

CUSTOMER PURCHASE ORDER	JOB NAME 1ST ST		SHIPPED VIA			TERMS 2%10Th	2%10TH NET 25TH			
<u>,</u>	PART/DESCRIPTION	N	1.1011.01		ORDER	SHIP	UNIT PRICE	EXTENSION	1	
FORFC2WSSBN 5/8 X 16 1/2 316SS BOLT & N			•		12	12	80.0000	960.00	Y	
WBLBS68BLUE 6 - 8 BOLT SET BLUE COATI	ED (8) 3/4 X 3 1/2				2	2	34.0000	68.00	Y	
DCFFLGTYTE6 5 FLG-TYTE GASKET RING S	SBR				2	2	10.0000	20.00	Y	
DCFTUFGRIP10 10 RET DUAL WEDGE ACC F	PVC/DI/HDPE				2	2	166.0000	332.00	Y	
WBLBNTHEAD344SS6 3/4 X 4 T-HEAD BOLT & NUT	316 S/S				16	16	9.0000	144.00	Y	
POLPW1012 POLYWRAP BLACK 30" X 40	00' 10-12" DIP				60	60	0.8500	51.00	Y	
DCF90FLG6 6 FLG 90 ELL AC CL					1	1	230.0000	230.00	Y	
DCFTMJFLG106 10*6 MJ*FLG TEE AC CL MARNING: The products of the products or other reproducts. P65Warnings.ca.gov	e known to the State	of Califori	nia to cause canc		1	1	450.0000	450.00	Y	
Remit to: PACE Supply Co PLEASE BE AWARE IN AN E AND EMPLOYEES FROM CO CURRENTLY COLLECTING S	FFORT TO PROTECTION OF SUPP	T OUR CU	STOMERS	6407						
								ototal: 1,295 : 9.25% tal: 1,414.		
THIS INVOICE IS SUBJECT TO ALL AND CONDITIONS ON THE FACE		TAX%	SALES TAX		PPING & NDLING	OTHER	R CHARGES	INVOICE TOT		
REVERSE	2255.00	9.250	208.59		0.0	00	0.00	-24	63.5	

Work Performed By: Piaz	RST ST - First Street Wa	•					Contract:	512		Change O Billing Nur Report Da Perform D	nber te	005 12.0 8/13/2022 8/02/2022
Labor Charges										1	Labor Cha	
Craft ID	Employee Name		RT Hrs	OT Hrs	Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor		3,034.42
L01 OE O1	J Piazza Jr		2.00			88.650			177.300	sc	10.00%	303.44
L02 OE O4	B Centeno		8.00	1.50		84.260	110.025		839.118	OT Labor		749.90
L03 OE 14	M Pastrana		8.00	1.50		62.150	79.755		616.833	sc	10.00%	74.99
L04 OE 13	JJ Garcia		8.00	1.50		62.940	80.940		624.930	Subtotal L	.abor	4,162.75
L05 OE O3	G Engelke		8.00	2.00		85.640	112.095		909.310	Subsisten	ce	0.00
L06 OE 14	DR Urrutia-Albavera		8.00	1.50		62.150	79.755		616.833	Other Exp	enses	0.00
Equipment Charg	es									MU	15.00%	624.41
Equipment ID	Class Make Model	A1 A2	RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended	Labor Tot	al	4,787.16
E01 EX05	HCECL DEER 50DZ		8.00			35.150			281.200	_		
E02 DT01A	TRUON TRUN 3AXL		10.00			67.690			676.900	1	quipment (-
E03 PT07	TRUCK T&TT 06-12		9.50			28.650			272.175	Subtotal	15.00%	1,288.85 <u>193.33</u>
E04 PT01	TRUCK T&TT 06-12		2.00			28.650			57.300	MU		
E05 PLATE	NONOPMISC 0210		1.00			1.270			1.270	Equipmer	it rotai	1,482.18
Material/Specialis	st Work/Lump Sum or l	Jnit Price Payment									Material C	harges
Number	Date Vendor Name and D						nits	Unit Price	Extended	Subtotal		26.18
M01 1	8/02/2022 Ace Hardware / C	Concrete Bags				1.0	000 LS	26.18000	26.18	MU	15.00%	<u>3.93</u>
										Material T	otal	30.11
										Activity To	ntal .	6,299.45
										Activity 10	nai	0,299.45
										Work Tota		6,299.45
										- TOIN TOI		0,200.40
										Dill Cubto	tal.	6,299.45
				1						Bill Subto	ıaı	0,233.43
	For Owner/Resident Engi	ineer's Use Only			Accepted:							
New Bill	Approved for Payment	Date of Action:			Customer:			Date:				
Resubmitta	Returned for Correction	Date Received:			Contractor:			Date:		Bill Total	Page 22	of64299.45

PIAZZA CONSTRUCTION

ate	8-2-22	Work Start Time	7:30	Lunch 12-12:30 Work End Time	5.80
mploy	rees	Hours	Employe	es	Hours
00	James Piazza, Sr.		17	Todd Singleton	A Second
01	Joe Bell		21	David Schaefer	
02	Mitch Starkey		23	Jose Galvez	
03	Jared Piazza	The state of the s	24	Vince Carmona	
04	Cary Hendrickson		26	Salvador Carmona	
06	Joe Matassarin		27	Craig Soto	
07	James Piazza, Jr.	2	29	Jacob Pierce	
08	Joel Piazza		32	Dante Fountain	
10	Bobby Centeno	9.5	33	Andy Cheda	
11	David Garrigus		35	Max Cerini	
12	John Anderson		37	Bethy Martinez Mauricie	19-5
14	Rebhey Hammoudeh		38	Jose Garcia	9.5
15	Austin Eckland		39	Gary Engelke - Truck Driver	10
16	Kody Starkey		42	David Urrutia-Albavera	9.5
Nater	ials & Credit Card Purchases +5-3 4x6 E-4 Concrete b		Notes:		
Pla AC	ials & Credit Card Purchases +5-3 4x6 E-4 Concrete 1	क्किट्ट अस्ति क्षेत्र संस्थान			Hours
Nater Pla AC quipr	ials & Credit Card Purchases #5-3		Equipm		Hours
quipr	ials & Credit Card Purchases #5-3	ede's	Equipme	2 Axle Dump	9 0-11
quipr H	ials & Credit Card Purchases #5-3	क्किट्ट अस्ति क्षेत्र संस्थान	Equipm DT DT 🔈	2 Axle Dump 3 Axle Dump	10
quipr H	ials & Credit Card Purchases #5-3	ede's	Equipm DT DT 0	2 Axle Dump	10 9.5
quipr	ials & Credit Card Purchases #5-3	ede's	Equipm DT DT 🔈	2 Axle Dump 3 Axle Dump	10
quipr H	ials & Credit Card Purchases #5-3	ede's	Equipm DT DT 0	2 Axle Dump 3 Axle Dump	10 9.5
Pla AC	ials & Credit Card Purchases #5-3	Hours	Equipm DT DT 0	2 Axle Dump 3 Axle Dump	10
quipr H X 50	ials & Credit Card Purchases #5-3	Hours	Equipm DT DT 0 PT 0	2 Axle Dump 3 Axle Dump	10
quipr H X 50	ials & Credit Card Purchases #5-3	Hours &	Equipm DT DT 0 PT 0	2 Axle Dump 3 Axle Dump Crew Truck	10
quipr H X 50	ials & Credit Card Purchases #5-3	Hours Subce	Equipm DT DT 0 PT 0 PT 0 Prorrector	2 Axle Dump 3 Axle Dump Crew Truck	10
quipr H	ials & Credit Card Purchases #5-3	Hours &	Equipm DT DT 0 PT 0 7	2 Axle Dump 3 Axle Dump Crew Truck	10

Timecards and tags can be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due the following Wednesday.

Mask You he adopting At

MEN COME THE THE PART OF THE PARTY OF THE PA (NGH = SAT / 6 / 6 - 6 - (SUN) 08/02/22 3 SHPI B. SBU SA

RM (5.9) EA (5.9) EA (4 at 5.99 ea (4 at 5.9

-1301 Al -1

Page 24 of 47

City Of Sebastopol Contractor Job: FIRST ST - First Street Wa Work Performed By: Piazza Construction	·				Contract:	512		Change Ord Billing Num Report Date	ber e	005 13.0 8/13/2022
Description of Work: Remove Plates, Set Hydrant & G	b Box, CDF, Set Plates, Pothole Val	ve						Perform Da		8/03/2022
Labor Charges									abor Cha	
Craft ID Employee Name	RT Hrs	OT Hrs	Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor		1,474.95
L01 OE O4 B Centeno	5.00			84.260			421.300	SC	10.00%	147.50
L02 OE 14 M Pastrana	5.00			62.150			310.750	OT Labor		0.00
L03 OE 13 JJ Garcia	5.00			62.940			314.700	_		
L04 OE O3 G Engelke	5.00			85.640			428.200	Subtotal La	abor	1,622.45
Equipment Charges								Subsistend	e	0.00
Equipment ID Class Make Model	A1 A2 RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended	Other Expe	enses	0.00
E01 EX05 HCECL DEER 50DZ	5.00			35.150			175.750	ми	15.00%	243.37
E02 DT01A TRUON TRUN 3AXL	5.00			67.690			338.450	Labor Tota	I	1,865.82
E03 PT07 TRUCK T&TT 06-12	5.00			28.650			143.250			<u> </u>
Material/Specialist Work/Lump Sum or L	Jnit Price Payment								uipment (-
Number Date Vendor Name and D				Un		Unit Price	Extended	Subtotal	15 000/	657.45
	ion / CDF - Concrete Truck And Driv	er Cost			00 EA	225.00000	1,125.00	MU	15.00%	<u>98.62</u>
M02 017917977 8/03/2022 Pace Supply / Hy				1.00	00 LS	4,348.51000	4,348.51	Equipment	lotal	756.07
M03 00 8/03/2022 Pace Supply / G0	05 Box And Lid			1.00	00 LS	85.76000	85.76	ı	Material Ch	narges
								Subtotal	15 000/	5,559.27
									15.00%	<u>833.89</u>
								Material To	otal	6,393.16
								Activity To	al	9,015.05
								Work Tota	l	9,015.05
								Bill Subtota	al	9,015.05
For Owner/Resident Engi	ineer's Use Only	A	ccepted:							
New Bill Approved for Payment	Date of Action:		Customer:			Date:				
Resubmittal Returned for Correction	Date Received:		Contractor:			Date:		Bill Total	age 25 d	₀₁ 94915.05

8	PIAZZA CONSTRUCTION
---	------------------------

ate	ne <u>sebasta pe</u> sor <u>Bobby</u> 8-3-22	Work Start Time	7:30	Lunch 12-12:30 Work End Ti	ime 4:00
mploy		Hours	Employe	Hours	
00	James Piazza, Sr.		17	Todd Singleton	
01	Joe Bell	THE RESIDENCE OF THE PARTY OF T	21	David Schaefer	
02	Mitch Starkey		23	Jose Galvez	
03	Jared Piazza		24	Vince Carmona	
04	Cary Hendrickson		26	Salvador Carmona	
06	Joe Matassarin		27	Craig Soto	
07	James Piazza, Jr.		29	Jacob Pierce	
08	Joel Piazza		32	Dante Fountain	1
10	Bobby Centeno	8	33	Andy Cheda	
11	David Garrigus		35	Max Cerini	
12	John Anderson		37	mauric, o	8
14	Rebhey Hammoudeh		38	Jose Garcia	8
15	Austin Eckland		39	Gary Engelke	0
16	Kody Starkey		42	David Urrutia-Albavera	A STATE OF
// Aateria	als & Credit Card Purchases e: 017917977	i i	Notes:		
Pac	e: 017917977	10			
Pac Pac	e: 017917977	Hours	Equipm		Hours
Pac Pac quipm	ne: 017917977	Hours	Equipm DT	2 Axle Dump	
Pac Quipm	ne: 017917977 nent Backhoe Excavator	10	Equipm DT DT O I	2 Axle Dump 3 Axle Dump	9
Pac Quipm	ne: 017917977	Hours	Equipm DT	2 Axle Dump 3 Axle Dump Crew Truck	9
Pac Pac	ne: 017917977 nent Backhoe Excavator	Hours	Equipm DT DT O I	2 Axle Dump 3 Axle Dump	9
Pac quipm	ne: 017917977 nent Backhoe Excavator	Hours	Equipm DT DT O I	2 Axle Dump 3 Axle Dump Crew Truck	9
lateria	ne: 017917977 nent Backhoe Excavator	Hours	Equipm DT DT O I	2 Axle Dump 3 Axle Dump Crew Truck	9
Pac quipm	ne: 017917977 nent Backhoe Excavator	Hours	Equipm DT DT O I	2 Axle Dump 3 Axle Dump Crew Truck	9
Pac quipm	ne: 017917977 nent Backhoe Excavator	Hours	Equipm DT DT O I	2 Axle Dump 3 Axle Dump Crew Truck	9
quipm	e: 017917977 nent Backhoe Excavator Skid Steer	Hours 5	Equipm DT DT O I PT O 7	2 Axle Dump 3 Axle Dump Crew Truck ConCrete Truck	9 8 3
quipm	e: 017917977 nent Backhoe Excavator Skid Steer	Hours 5	Equipm DT DT O I PT O 7	2 Axle Dump 3 Axle Dump Crew Truck ConCrete Truck	9 8 3
Pac	e: 017917977 Backhoe Excavator Skid Steer	Subco	Equipm DT DT O I PT O 7	2 Axle Dump 3 Axle Dump Crew Truck ConCrede Truck	9 8 3

Timecards and tags can be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due the following Wednesday.

6 hours and 5 yards of COF is Touch PACE Supply Corp P.O. Box 6407 Rohnert Park,CA 94927-6407



INVOICE

INVOICE DATE	INVOICE #	PAGE
08/03/22	017917977	1 of 1

DATE SHIPPED	CUSTOMER #
08/03/22	16311-21

Branch Contact: 707-545-7101 FAX: 707-547-0751

Accounting & Credit: 855-306-5689

SHIP TO

PIAZZA CONST / FIRST ST WATERMAIN
** JOB # 512 **
PO BOX 573
PENNGROVE CA 94951-0573

PIAZZA CONST / FIRST ST WATERMAIN LELAND ST & JEWELL AVE. SEBASTOPOL, CA 95472

CUSTOMER PURCHASE ORDER 511	JOB NAME 1ST		SHIPPED VIA PICK UP			TERMS 2%10T	H NET 25TH	TAXA ITEN	
	PART/DESCRIPTION	N	•		ORDER	SHIP	UNIT PRICE	EXTENSION	1
DIPPC350TJ620 SHOULD REFER TO PRODU	CT CODE DIPPC350	TJ6			20	20	28.5000	570.00	Y
WBLBSHYDSS HYDRANT BOLT SET 304SS (6) 5/8 X 3					2	2	20.0000	40.00	Y
DCFFLGTYTE6 6 FLG-TYTE GASKET RING SBR					2	2	10.0000	20.00)
OCFTUFGRIP6 B RET DUAL WEDGE ACC P	VC/DI/HDPE				5	5	71.0000	355.00)
NBLBNTHEAD344SS 8/4 X 4 T-HEAD BOLT & NUT	304 S/S				30	30	7.0000	210.00)
OCF2212MJ6 6 MJ 22 1/2 ELL AC CL					1	1	100.0000	100.00)
OCF45MJ6 6 MJ 45 ELL AC CL					1	1	110.0000	110.00	, ,
BRYM24 FIRE HYD BURY MJ 24 AC C	CL				1	1	430.0000	430.00	, .
FHDCVSSHYD FIRE HYD B/O CHECK 400A	STD				1	1	2100.0000	2100.00	
POLPW1012 POLYWRAP BLACK 30" X 4 WARNING: The products and/or substances, which are birth defects or other reproducts www.P65Warnings.ca.gov	you have purchased e known to the State	e of Califorı	nia to cause cance		40	40	1.1333	45.33	
Remit to: PACE Supply C DUE TO THE SUSTAINED SI MMEDIATELY, WE ARE INC FEE FROM \$10 TO \$15. LINI	JRGE IN FUEL PRIC	ES, EFFEC NDARD DE	TIVE LIVERY	6407					
	TERMS GROSS	TAX%	SALES TAX	_	PPING & NDLING	OTHER	R CHARGES	INVOICE TOT	AL

City Of Sebasto	opol				Contract:	512		Change Order	005
Contractor Job:	FIRST ST - First Street Watermain Replacen	nent						Billing Number	14.0
Work Performed By: F								Report Date	8/13/2022
Description of Work: I	Remove Plates, Pave Trench							Perform Date	8/04/2022
Labor Charges								Labor Cha	
Craft ID	Employee Name	RT Hrs	OT Hrs Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor	1,157.06
L01 OE O4	B Centeno	3.00		84.260			252.780	SC 10.00%	115.71
^{L02} OE 14	M Pastrana	3.00		62.150			186.450	OT Labor	0.00
L03 OE 13	JJ Garcia	3.00		62.940			188.820	_	
LO4 OE O3	G Engelke	4.00		85.640			342.560	Subtotal Labor	1,272.77
L05 OE 14	DR Urrutia-Albavera	3.00		62.150			186.450	Subsistence	0.00
Equipment Cha	arges							Other Expenses	0.00
Equipment ID	Class Make Model A1 A2	RT Hrs	OT Hrs	RT Rate	OT Rate	Delay Factor	Extended	<i>м</i> υ 15.00%	190.92
E01 EX01	HCECL DEER 160LC	3.00		74.300			222.900	Labor Total	1,463.69
E02 DT01A	TRUON TRUN 3AXL	4.00		67.690			270.760		-
E03 PT07	TRUCK T&TT 06-12	3.00		28.650			85.950	Equipment (-
Material/Specia	alist Work/Lump Sum or Unit Price Paymer	nt						Subtotal	579.61
Number	Date Vendor Name and Description			Un	nits	Unit Price	Extended	<i>ми</i> 15.00%	<u>86.94</u>
M01 161722	8/04/2022 Bodean Company / Asphalt - 1 Ton			1.00	00 LS	99.78000	99.78	Equipment Total	666.55
								Material Ch	narges
								Subtotal	99.78
								MU 15.00%	14.97
								Material Total	114.75
								Material Total	114.75
								Activity Total	2,244.99
								Work Total	2,244.99
								Bill Subtotal	2,244.99
	For Owner/Resident Engineer's Use Only		Accepted:					 	,
						D-4			
New Bill	Approved for Payment Date of Action:		Customer:			Date:			
Resubm	nittal Returned for Correction Date Received:		Contractor:			Date:		Bill Total Page 28	₀ 24 <mark>2</mark> 44.99
NTS Universal Bill For								Page 1	www.ewbills.com

1	PIA2 CONSTRU	ZZA
0	CONSTRU	UCTION

Date	me S€bas 1 Pol isor <u>Bebby</u> 8-4-22 Wor	k Start Time	7130	Lunch 12-12:30 Work End Time	4:00		
Employ	/ees	Hours	Employees Ho				
00	James Piazza, Sr.		17	Todd Singleton			
01	Joe Bell	of the second	21	David Schaefer			
02	Mitch Starkey		23	Jose Galvez			
03	Jared Piazza		24	Vince Carmona			
04	Cary Hendrickson		26	Salvador Carmona			
06	Joe Matassarin	Comment	27	Craig Soto			
07	James Piazza, Jr.		29	Jacob Pierce			
08	Joel Piazza		32	Dante Fountain			
10	Bobby Centeno	8	33	Andy Cheda			
11	David Garrigus		35	Max Cerini			
12	John Anderson		37	Rudy Mauricio	8		
14	Rebhey Hammoudeh		38	Jose Garcia	8		
15	Austin Eckland		39	Gary Engelke	9		
13			-				
16 Materi	Kody Starkey als & Credit Card Purchases: ear #347 SZ c R ent c15 # 3307 441	46	Notes:	David Urrutia-Albavera	8		
16 Materi SoD Heve	Kody Starkey als & Credit Card Purchases: Pan #3477 SZ 2 R Bull (15 ## 330) 441		Notes:				
16 Materi So D	Kody Starkey als & Credit Card Purchases: Pan # 347 SZ C R But als ## 3307 449 ment	+ 6 Hours	Notes:	ent	Hours		
16 Materi	Kody Starkey als & Credit Card Purchases: Par # 347 SZ R But als ## 330 444 ment Backhoe	Hours	Notes:	ent 2 Axle Dump	Hours		
16 Materi OD quipm H xSO	Kody Starkey als & Credit Card Purchases: Pan # 3477 SZ R But als ## 3307 444 ment Backhoe Excavator		Notes: Equipment DT DT 4 /	ent 2 Axle Dump 3 Axle Dump	Hours		
16 Materi	Kody Starkey als & Credit Card Purchases: Par # 347 SZ R But als ## 330 444 ment Backhoe	Hours	Notes:	ent 2 Axle Dump	Hours		
16 Materi OD quipm H xSO	Kody Starkey als & Credit Card Purchases: Pan # 3477 SZ R But als ## 3307 444 ment Backhoe Excavator	Hours	Notes: Equipment DT DT 4 /	ent 2 Axle Dump 3 Axle Dump	Hours		
16 Materi OD quipm H xSO	Kody Starkey als & Credit Card Purchases: Pan # 3477 SZ R But als ## 3307 444 ment Backhoe Excavator	Hours	Notes: Equipment DT DT 4 /	ent 2 Axle Dump 3 Axle Dump	Hours		
16 Materi	Kody Starkey als & Credit Card Purchases: Pan # 3477 SZ R But als ## 3307 444 ment Backhoe Excavator	Hours	Notes: Equipment DT DT 4 /	ent 2 Axle Dump 3 Axle Dump	Hours		
16 Materi	Kody Starkey als & Credit Card Purchases: Pan # 3477 SZ R But als ## 3307 444 ment Backhoe Excavator	Hours	Equipme DT DT 4 / PT 6 7	ent 2 Axle Dump 3 Axle Dump	Hours		
16 Materi	Kody Starkey als & Credit Card Purchases: Pan # 3477 SZ R But als ## 3307 444 ment Backhoe Excavator	Hours	Equipme DT DT 4 / PT 6 7	ent 2 Axle Dump 3 Axle Dump	Hours		
Aateri Sopo Hers quipm	Kody Starkey als & Credit Card Purchases: Pan # 3477 SZ R But als ## 3307 444 ment Backhoe Excavator	Hours	Equipment of formatting the proof of the pro	ent 2 Axle Dump 3 Axle Dump Crew Truck	Hours		
Address of the second s	Kody Starkey als & Credit Card Purchases: Part # 347 SZ R But als ## 330 444 ment Backhoe Excavator Skid Steer	Subco	Equipment of the property of t	ent 2 Axle Dump 3 Axle Dump Crew Truck	Hours 9		
16 lateri	Kody Starkey als & Credit Card Purchases: Pan #3477 SZ R But als ## 3307 444 ment Backhoe Excavator Skid Steer	Subco	Equipment of the property of t	ent 2 Axle Dump 3 Axle Dump Crew Truck	Hours 9		

Timecards and tags can be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due the following Wednesday.

3 Hours and 1 Ton of Aspait is Tandm 4 HOURS DUMP TWOKE & Driver



Suppliers of Quality Aggregrates & Asphalt

ACCOUNT NO.

PIAZZA

SOLD TO

Piazza Construction P.O. Box 573

Penngrove, CA 94951

Invoice 161722

PAGE 1

DATE 8/9/2022

TERMS NET 25th



Sebastopol Waterline

Locations:	1=Mark	West, 2=Forestville, 3=Asphalt Plant

PLEASE RETURN THIS PORTION WITH YOUR PAYMENT

							Total I	nvoice	>	9	247.45
Invoice Total					2.48 Ton		\$178.56	44.64	\$20.65	\$3.60	\$247.45
Subtotal					2.48 Tor		\$178.56	44.64	\$20.65	\$3.60	\$247.45
Loc. Date 3 8/4/2022	Ticket 347752	Order 220173	P.O. 1st Street	Product 1/2" Asphalt	Qty 2.48	Rate 72.00	Amount 178.56	Amount 44.64	Amount ^A 20.65	Amount 3.60	Total 247.45
						1002500		Surcharge		Fee	

Page 30 of 47

Work Performed By: Pia	RST ST - First Street W	atermain Replaceme	nt				Contract:	512		Change Order Billing Number Report Date Perform Date	005 15.0 8/13/2022 8/05/2022
Lohor Chargos										Labor Cha	arges
Labor Charges Craft ID	Employee Name		RT Hrs	OT Hrs	Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor	967.46
LO1 OE O4	B Centeno		7.00	011110	Cabo Office	84.260	OTTIGLO	Cabornato	589.820	SC 10.00%	96.75
L02 OE 13	JJ Garcia		6.00			62.940			377.640	OT Labor	0.00
Equipment Char	ges									†	
Equipment ID	Class Make Model	A1 A2	RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended	Subtotal Labor	1,064.21
E01 PT07	TRUCK T&TT 06-12		7.00			28.650			200.550	Subsistence	0.00
Material/Speciali	st Work/Lump Sum or	Unit Price Payment								Other Expenses	0.00
Number	Date Vendor Name and						nits	Unit Price	Extended	<i>м</i> υ 15.00%	<u>159.63</u>
M01 01	8/05/2022 Piazza Construc	tion / Concrete Truck, Driv	er & Short I	Load Fe		1.0	000 LS	700.00000	700.00	Labor Total	1,223.84
										Equipment	Charges
										Subtotal	200.55
										<i>MU</i> 15.00%	30.08
										Equipment Total	230.63
										Material C	Charges
										Subtotal	700.00
										MU 15.00%	105.00
										Material Total	805.00
										Wateriai Totai	003.00
										Activity Total	2,259.47
										Work Total	2,259.47
										Bill Subtotal	2,259.47
	For Owner/Resident Eng	ineer's Use Only		A	ccepted:						
New Bill	Approved for Payment	Date of Action:			Customer:			Date:			
Resubmit	tal Returned for Correction	Date Received:		(Contractor:			Date:		Bill Total Page 31	of24259.47



Date	me <u>Sebastp</u> isor <u>Bobby</u> 8.5-22	Work Start Time	7:00	Lunch 12-12:30 Work End Tim	ne 2:30
Employ	rees	Hours	Employ	ees	Hours
00	James Piazza, Sr.		17	Todd Singleton	
01	Joe Bell		21	David Schaefer	
02	Mitch Starkey		23	Jose Galvez	
03	Jared Piazza		24	Vince Carmona	
04	Cary Hendrickson		26	Salvador Carmona	
06	Joe Matassarin	The second of the second	27	Craig Soto	
07	James Piazza, Jr.		29	Jacob Pierce	
08	Joel Piazza		32	Dante Fountain	
10	Bobby Centeno	7	33	Andy Cheda	3 34
11	David Garrigus		35	Max Cerini	
12	John Anderson		37	Rudy Martinez	
14	Rebhey Hammoudeh		38	Jose Garcia	6
15	Austin Eckland		39	Gary Engelke	
16	Kody Starkey		42	David Urrutia-Albavera	
Vlateri	als & Credit Card Purchases	Application of the property of	Notes:		
Materi Pia7	als & Credit Card Purchases 220 Soncrete Yund	Tog #174			Hours
Materi Pio 7	als & Credit Card Purchases 220 Concrete Yound	Application of the property of	Equipm		Hours
Materi Pio 7	als & Credit Card Purchases 2 c	Tog #174	Equipm DT	2 Axle Dump	Hours
Wateri Pio 7 Requipm BH	als & Credit Card Purchases 2 2 C Concrete Yound ment Backhoe Excavator	Tog #174	Equipm DT DT	2 Axle Dump 3 Axle Dump	Hours
Materi	als & Credit Card Purchases 2 c	Tog #174	Equipm DT	2 Axle Dump	Hours
Materi Pio 7 R quipm BH	als & Credit Card Purchases 2 2 C Concrete Yound ment Backhoe Excavator	Tag #174 Hours	Equipm DT DT	2 Axle Dump 3 Axle Dump Crew Truck	-
Address of the second s	als & Credit Card Purchases 2 2 C Concrete Yound ment Backhoe Excavator	Tag #174 Hours Subco	Equipm DT DT PT Ø7	2 Axle Dump 3 Axle Dump Crew Truck Concrete Truck	7

Timecards and tags can be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due the following Wednesday.



General Engineering Contractor

Lic. No. 406456 • P.O. Box 573 • Penngrove • CA 94951 • (707) 876-3410

City of Sebastopol August 30, 2022 714 Johnson Street

714 Johnson Street Sebastopol, CA 95472

Project Name: First Street Water Main - Connect Unmarked Service

Invoice No.: 2022-512-104

Date	Description	Bill No.	Amount
7/29/2022	Locate meter box, hot tap main, run service, backfill, and compact	11.0	4,088.8
	Total Due		\$ 4,088.8

Additional contract days requested: 1

James A. Piazza
Piazza Construction

				.,							
City Of Sebasto	opol						Contract:	512		Change Order	006
Contractor Job:	FİRST ST - First Street Wa	termain Replacemer	nt							Billing Number	11.0
Work Performed By: F										Report Date	8/13/2022
Description of Work: L	ocate Meter Box, Hot Tap Main,	Run Service Line, Backfil	II, Compact	İ						Perform Date	7/29/2022
Labor Charges										Labor Cl	
Craft/Level	Employee Name		RT Hrs	OT Hrs	Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor	1,783.26
L01 OE O4	J Matassarin		6.00			84.260			505.560	SC 10.00%	178.33
L02 OE O1	J Piazza Jr		6.00			88.650			531.900	OT Labor	0.00
L03 OE 14	DR Urrutia-Albavera		6.00			62.150			372.900		
L04 OE 14	M Pastrana		6.00			62.150			372.900	Subtotal Labor	1,961.59
Equipment Cha	ırges									Subsistence	0.00
Equipment ID	Class Make Model	A1 A2	RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended	Other Expenses	0.00
E01 EX05	HCECL DEER 50DZ		6.00			35.150			210.900	<i>м</i> υ 15.00%	294.24
E02 LD02	LDRRT DEER 344J		6.00			57.460			344.760	Labor Total	2,255.83
E03 DT08	TRUON TRUN 2AXL		6.00			51.070			306.420		-
E04 PT01	TRUCK T&TT 06-12		6.00			28.650			171.900	Equipmen	_
Material/Specia	list Work/Lump Sum or U	Init Price Payment	**MATE	RIAL INV	OICE(S) TO	FOLLOW**				Subtotal	1,033.98
Number	Date Vendor Name and D	•				Un	its	Unit Price	Extended	ми 15.00%	<u>155.10</u>
M01 00	7/29/2022 Piazza Constructi	on / 1" HDPE				1.25	50 EA	32.77600	40.97	Equipment Total	1,189.08
M02 017911410	7/29/2022 Pace Supply / Sei	rvice Fittings				1.00	00 LS	98.33000	98.33	Material	Charges
M03 017908524	7/29/2022 Pace Supply / Sei	rvice Fittings				1.00	00 LS	420.61000	420.61	Subtotal	559.91
										MU 15.00%	83.99
										Material Total	643.90
										Activity Total	4,088.81
										Work Total	4,088.81
											,
										Rill Subtotal	4,088.81
				I	A					Bill Subtotal	4,000.01
	For Owner/Resident Engi	neer's Use Only		'	Accepted:						
New Bill	Approved for Payment	Date of Action:			Customer:			Date:			
Resubm	nittal Returned for Correction	Date Received:								DUIT LIDA	4.988 81
					Contractor:			Date:		Bill Total Page 34	
NTS Universal Bill For	v 1994									Page 1	www.ewbills.coi

ate	visor James Piazzi 7-29-22 Fr. Works	a Jr		Lunch 12-12:30 Work End Tim	
		art rime		_ Lunch 12-12:30 Work End Thi	
mplo		Hours	Employ		Hours
00	James Piazza, Sr.		24	Vince Carmona	
01	Joe Bell		26	Salvador Carmona	
_	Mitch Starkey		27	Craig Soto	
03	Jared Piazza		29	Jacob Pierce	_
04	Cary Hendrickson		32	Dante Fountain	
06	Joe Matassarin	6	33	Andy Cheda	
07	James Piazza, Jr.	6	35	Max Cerini	
80	Joel Piazza		37	Rudy Martinez	
10	Bobby Centeno		38	Jose Garcia	
3 1	David Garrigus		39	Gary Engelke	
12	John Anderson		42	David Urrutia-Albavera	6
14	Rebhey Hammoudeh		43	Juan Villagomez	
. 2	Austin Ecklund	1	44	Mike Roberts	
: 6	Kody Starkey		45	Mauricio Pastrana	6
5	David Schaefer		46	Weston Roades	
23	Jose Galvez				
ater	als & Credit Card Purchases:		Notes:		
		mil		e: 017911410, 017908524	
1	1 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	~~.4	1		
0	ne angle stoo	' '	1		
P	pe, angle stop, 1"		 	1650-201	
P	pe, angle stop	. 0			
16	STOCK?		Fauing	ant .	Hours
uipr	STOCK?	Hours	Equipm		Hours
uipr	nent Backhoe	Hours	DT	2 Axle Dump DTO8	Hours 6
uipr	nent Backhoe Excavator		DT DT	2 Axle Dump DT08 3 Axle Dump	6
uipr	nent Backhoe Excavator Skid Steer	Hours 6	DT	2 Axle Dump DTO8	
uipr	nent Backhoe Excavator	Hours	DT DT	2 Axle Dump DT08 3 Axle Dump	6
uipr	nent Backhoe Excavator Skid Steer	Hours 6	DT DT	2 Axle Dump DT08 3 Axle Dump	6
P C C C C C C C C C C C C C C C C C C C	nent Backhoe Excavator Skid Steer	Hours 6	DT DT	2 Axle Dump DT08 3 Axle Dump Crew Truck PT01	6
uipr	nent Backhoe Excavator Skid Steer	Hours 6	DT DT PT	2 Axle Dump DT08 3 Axle Dump Crew Truck PT01	6

Meter Box

PACE Supply Corp P.O. Box 6407 Rohnert Park,CA 94927-6407



INVOICE

INVOICE DATE	INVOICE #	PAGE
07/29/22	017911410	1 of 1

DATE SHIPPED	CUSTOMER #
07/29/22	16311-21

Branch Contact: 707-545-7101 FAX: 707-547-0751

Accounting & Credit: 855-306-5689

SHIP TO

PIAZZA CONST / FIRST ST WATERMAIN
** JOB # 511 **
PO BOX 573
PENNGROVE CA 94951-0573

PIAZZA CONST / FIRST ST WATERMAIN LELAND ST & JEWELL AVE. SEBASTOPOL, CA 95472

CUSTOMER PURCHASE ORDER 511	JOB NAME 1ST ST		SHIPPED VIA PICK UP		TERMS 2%10TH	TERMS 2%10TH NET 25TH		
	PART/DESCRIPTION	N	l	ORDER	SHIP	UNIT PRICE	EXTENSION	
FORFB10004QNL 1 CC X COMP CTS Q LF BRS	CORP BALL STOP	FORD		1	1	85.0000	85.00	Y
FOR52 1 CTS PE INSERT FORD MARNING: The products and/or substances, which ar birth defects or other reprod www.P65Warnings.ca.gov	e known to the State	of Californ	nia to cause cancer a	and	2	2.5000	15.00	Y
Remit to: PACE Supply Co DUE TO THE SUSTAINED SU MMEDIATELY, WE ARE INC FEE FROM \$10 TO \$15. LINIT	JRGE IN FUEL PRICE REASING OUR STAP	ES, EFFEC [.] NDARD DE	TIVE LIVERY	07				
							subtotal: 90 9.25% tax Total: 98	
	TERMS GROSS	TAX%	SALES TAX	SHIPPING & HANDLING	OTHER	R CHARGES	INVOICE TOT	_
THIS INVOICE IS SUBJECT TO ALL AND CONDITIONS ON THE FACE	12111110			TIANDLING		_		

PACE Supply Corp P.O. Box 6407 Rohnert Park,CA 94927-6407



INVOICE

INVOICE DATE	INVOICE #	PAGE
07/29/22	017908524	1 of 1

DATE SHIPPED	CUSTOMER #
07/29/22	16311-21

Branch Contact: 707-545-7101 FAX: 707-547-0751

Accounting & Credit: 855-306-5689

SHIP TO

PIAZZA CONST / FIRST ST WATERMAIN ** JOB # 511 ** PO BOX 573 PENNGROVE CA 94951-0573

PIAZZA CONST / FIRST ST WATERMAIN **LELAND ST & JEWELL AVE. SEBASTOPOL, CA 95472**

11 	1	R PURCHASE ORDER JOB NAME SHIPPED VIA PICK UP					TERMS 2%10TH NET 25TH		
II IED 25009N1	PART/DESCRIPTION	J	1.101.01		RDER	SHIP	UNIT PRICE	EXTENSION	1
CC MIP TAPER X CTS/110					1	1	102.2400	102.24	Y
IUEB25028N1 MIP X CTS/110 LF CORP B	ALL VALVE MUELLE	ER.			1	1	102.2400	102.24	Y
IUEBR2B1104IP100 <mark>1.04-12.12 X 1 IP DS BRS S</mark>	ADDLE MUELLER				1	1	270.0000	270.00	Y
ORBA43342WQNL X 3/4 CTS Q X MN LF BRS	ANGLE BALL METER	R VLV W/ L	W FORD		1	1	115.0000	115.00	Y
OR202BS1110CC4 0 X 1 CC BRS 11.10 W/ SS 5 MARNING: The products on the reproducts of the reproduct of the re	you have purchased e known to the State uctive harm. For moor properties of P.O. Box 6407 JRGE IN FUEL PRICE REASING OUR STAN	can expose of Californ re informati Rohnert P ES, EFFECT NDARD DEL	nia to cause cance ion, go to Park, CA 94927-6 FIVE LIVERY	er and	1	1	270.0000	270.00	Y
				OLUBBA			9	ubtotal: 385.0 .25% tax otal: 420.6	
THIS INVOICE IS SUBJECT TO ALL		TAX%	SALES TAX	SHIPPI HAND		OTHER	R CHARGES	INVOICE TOTA	AL
AND CONDITIONS ON THE FACE REVERSE	859.48	9.250	79.50		0.0	00	0.00	-9:	38.9

PCO #08



General Engineering Contractor

Lic. No. 406456 • P.O. Box 573 • Penngrove • CA 94951 • (707) 876-3410

City of Sebastopol September 8, 2022

714 Johnson Street Sebastopol, CA 95472

Project Name: First Street Water Main - Pothole

Invoice No.: 2022-512-106

Date	Description	Bill No.	Aı	mount
8/30/2022	Grind, recompact and pave potholes from original waterline location	17.0		5,191.14
	Total Due		\$	5,191.14

Additional contract days requested: 1

James A. Piazza
Piazza Construction

City Of Sebastor Contractor Job: FI Work Performed By: Pia Description of Work: Gri	RST ST - First Str azza Construction		rmain Replacement			Contract:	512		Change Order Billing Number Report Date Perform Date	008 17.0 9/01/2022 8/30/2022
Labor Charges									Labor Cha	
Craft/Level	Employee Name		RT Hrs OT/DT Hr	s Subs Units	RT Rate C	DT/DT Rate	Subs Rate	Extended	RT Labor	1,535.27
L01 OE O1	J Piazza Jr		4.50		88.650			398.925	SC 10.00%	153.53
L02 OE O4	B Centeno		4.50		84.260			379.170	OT/DT Labor	0.00
L03 OE 12	S Carmona		3.00		65.940			197.820		
L04 OE 14	DR Urrutia-Albaver	a	4.50		62.150			279.675	Subtotal Labor	1,688.80
L05 OE 14	J Hoyle		4.50		62.150			279.675	Subsistence	0.00
Equipment Charg	ges								Other Expenses	0.00
Equipment ID	•	Model	A1 A2 RT Hrs OT H	rs	RT Rate	OT Rate	Delay Factor	Extended	MU 15.00%	253.32
E01 SS04	TRACS >50	Α	4.50		36.470			164.115	Labor Total	1,942.12
E02 SS02	TRACS >50	Α	4.50		36.470			164.115		-
E03 GD03	TRACS CAT	PC306B	2.50		24.680			61.700	Equipment (-
E04 WC02	COMHGCOMP	0-250	2.00		4.070			8.140	Subtotal	796.59
E05 PT01	TRUCK T&TT	06-12	4.50		28.650			128.925	<i>ми</i> 15.00%	<u>119.49</u>
E06 PT07	TRUCK T&TT	06-12	4.50		28.650			128.925	Equipment Total	916.08
E07 TP01	BITDT TLMD	0-300	2.00		7.260			14.520	Material Ch	narges
E08 RR05	ROVIB CAT	CB34	2.50		50.450			126.125	Subtotal	2,028.64
Material/Speciali	st Work/Lump Si	um or Uni	it Price Payment **MATERIAL IN	VOICE(S) TO FC	OLLOW**				MU 15.00%	304.30
Number	•	lame and Desc		. , ,	Uni	its	Unit Price	Extended	Material Total	2,332.94
M01 00	8/30/2022 Penngro	ove Transfer	/ Mobilize Equipment, Off Haul Grindings	;	9.50	00 EA	129.52000	1,230.44	Material Total	2,332.94
M02 351032	8/30/2022 Bodean	Company / A	Asphalt		1.00	00 LS	798.20000	798.20		
									Activity Total	5,191.14
									Work Total	5,191.14
									Bill Subtotal	5,191.14
	Fan Own an / B ! -!	Jan4 Frani:	aria Han Ombr	Accepted:					000.0.0.0	0,101114
New Bill	For Owner/Resid	,	er's Use Only ate of Action:	Customer:			Date:			
Resubmitt	al Returned for Cor	rrection Da	ate Received:	Contractor:			Date:		Bill Total Page 39 (54 1 91.14



mploy	isor <u>James Piazza</u> 8-30-22 Tue Work				Hours
00	James Piazza, Sr.	Hours	Employ 24	Vince Carmona	Hours
01	Joe Bell		26	Salvador Carmona	3
02	Mitch Starkey		27	Craig Soto	
03	Jared Piazza		29	Jacob Pierce	
04	Cary Hendrickson		32	Dante Fountain	
06	Joe Matassarin		33	Andy Cheda	
07	James Piazza, Jr.	405	35	Max Cerini	
08	Joel Piazza	100	37	Rudy Martinez	
10	Bobby Centeno	4.5	38	Jose Garcia	
11	David Garrigus	700	39	Gary Engelke	
12	John Anderson		42	David Urrutia-Albavera	405
14	Rebhey Hammoudeh		43	Juan Villagomez	100
15	Austin Ecklund		44	Mike Roberts	
_	Kody Starkey		45	Mauricio Pastrana	
117			7.3	IVIdul ICIO I doct di la	
16			46	Weston Roades	
21 23 (later	David Schaefer Jose Galvez ials & Credit Card Purchases:	z 8tus	Notes:	Weston Roades Jach #	4.5
21 23 later	David Schaefer Jose Galvez ials & Credit Card Purchases:	z. Btus			
21 23 later	David Schaefer Jose Galvez ials & Credit Card Purchases:	Z. Sturs	Notes:	Jach #	40 S
21 23 later	David Schaefer Jose Galvez ials & Credit Card Purchases:		Notes: Equipm	Tach #	
21 23 later quipr H	David Schaefer Jose Galvez ials & Credit Card Purchases: 500	Hours	Notes: Equipm DT DT	Jach # nent 2 Axle Dump 3 Axle Dump	Hours
21 23 later quipr H	David Schaefer Jose Galvez ials & Credit Card Purchases: SCOLLAN SS 103: ment Backhoe Excavator Skid Steer 262	Hours 405	Notes: Equipm DT DT	nent 2 Axle Dump 3 Axle Dump Crew Truck PTO 1	Hours 405
21 23 later quipr H	David Schaefer Jose Galvez ials & Credit Card Purchases: 300 a	Hours 405	Notes: Equipm DT DT PT	Dach # Dent 2 Axle Dump 3 Axle Dump Crew Truck PTO I	Hours 405 405
21 23 later quipr H	David Schaefer Jose Galvez ials & Credit Card Purchases: Scolean 35 103: ment Backhoe Excavator Skid Steer 262 Cob Cat SS GD03	Hours 405 405 205	Notes: Equipm DT DT PT	Dach # Dent 2 Axle Dump 3 Axle Dump Crew Truck PTO I PTO 7 Tack pot	Hours 405 405 2
21 23 later quipr H	David Schaefer Jose Galvez ials & Credit Card Purchases: 300 a	Hours 405	Notes: Equipm DT DT PT	Dach # Dent 2 Axle Dump 3 Axle Dump Crew Truck PTO I	Hours 405 405
21 23 (later	David Schaefer Jose Galvez ials & Credit Card Purchases: Scolean 35 103: ment Backhoe Excavator Skid Steer 262 Cob Cat SS GD03	Hours 4.5 4.5 2.5	Notes: Equipm DT DT PT	Tach # 2 Axle Dump 3 Axle Dump Crew Truck PTO I PTO7 Tack pot RROS	Hours 405 405
21 23 later quipr H X S	David Schaefer Jose Galvez ials & Credit Card Purchases: Scolean 35 103: ment Backhoe Excavator Skid Steer 262 Bob cat 55 GD03 Tumpmy Fack	Hours 405 405 205 Q Subco	Notes: Equipm DT DT PT	Jach # 2 Axle Dump 3 Axle Dump Crew Truck PTO I PTO7 Tack pot RROS	Hours 4.5 4.5 2.2
21 23 later quipr H X S	David Schaefer Jose Galvez ials & Credit Card Purchases: Scolean 35103: ment Backhoe Excavator Skid Steer 262 Bob cat 55 GD03 Tumping Fack	Hours 405 405 205 Subco	Equipm DT DT PT	Jach # Dach # 2 Axle Dump 3 Axle Dump Crew Truck PTO I PTO7 Tack pot RROS Lawl to Job, Get A	Hours 4.5 4.5 2.2
21 23 later quipr H X	David Schaefer Jose Galvez ials & Credit Card Purchases: Society 35103: ment Backhoe Excavator Skid Steer 262 Bob Cat SS GD03 Tumping Fack Tumping Fack Faul out Grindings	Hours 405 405 205 20 Subco	Equipm DT DT PT	Jach # Dent 2 Axle Dump 3 Axle Dump Crew Truck PTO I PTO7 Tack pot RROS Law(to Job, Get A	Hours 4.5 4.5 2.2.5
21 23 later quipr H X	David Schaefer Jose Galvez ials & Credit Card Purchases: Scolean 35103: ment Backhoe Excavator Skid Steer 262 Bob cat 55 GD03 Tumping Fack	Hours 405 405 205 20 Subco	Equipm DT DT PT	Jach # Dach # 2 Axle Dump 3 Axle Dump Crew Truck PTO I PTO7 Tack pot RROS Lawl to Job, Get A	Hours 405 405 205
21 23 later quipr H X S	David Schaefer Jose Galvez ials & Credit Card Purchases: Sociat 35 103: ment Backhoe Excavator Skid Steer 262 Bob cat SS GD03 Tumping Jacke Paul out Grindings of Rich time is Tell	Hours 405 405 205 20 Subco ev, Grwl and Sk M -1 h	Equipm DT DT PT	Jach # 2 Axle Dump 3 Axle Dump Crew Truck PTO I PTO7 Tack pot RROS Lew He Job, Get A	Hours 405 405 205
21 23 later Quipr H X S	David Schaefer Jose Galvez ials & Credit Card Purchases: Society 35103: ment Backhoe Excavator Skid Steer 262 Bob Cat SS GD03 Tumping Fack Tumping Fack Faul out Grindings	Hours 405 405 205 20 Subco ev, Grwl and Sk M -1 h	Equipm DT DT PT	Jach # 2 Axle Dump 3 Axle Dump Crew Truck PTO I PTO7 Tack pot RROS Lew He Job, Get A	Hours 405 405 205

Timecards and tags are to be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due Wednesdays.

SHIPPING ORDER PENNGROVE TRANSFER and FREIGHT BILL CA 426337 Date 8.30-22 # OF AXLES EQUIPMENT TYPE OF LOADING Rich Fontes TRUCK ☐ End Dump (707)483-2023☐ Bunker ☐ Bett TRAILER_ ☐ Bottom Dump NO. SUB NO. P.O. Box 290 • Penngrove, CA 94951 Transfer CT Power Hand HAULER ☐ 10 Wheeler PRIME TAG CARRIER NO. CONSIGNEE SHIPPER DESTINATION POINT OF ORIGIN CITY ONE WAY CITY MILEAGE P.O. NO. MATERIALS TINIO OFFICE TIME STARTED LAST LOAD OFFICE UNLOADING LOADING USE ONLY USE ONLY NET TIME NET TIME TIME TIME ARRIVED TO DUMP LAST LOAD YARDS OR TIME SCALE NO. STAND BY STAND BY ARRIVE LEAVE LEAVE ARRIVE TAG NO. WEIGHT NET RUNNING TIME LAST LOAD Peppe 745 820 TIME FINISHED DUMP LAST LOAD Yd 835 TIME ALLOWED TO RETURN SAME 1237 950 AS NET RUNNING TIME LAST LOAD 110 COMMENTS 105 950 1235 1257 Trasport Ski disteer 262 1/2" 430 220 159 351032 5 8.00 525 405 515 430 262 to TG to Seb Page 41 of 47 shoul to

LEAVE	Pepper NET RUNNING TIME LAST LOAD	
1	TIME FINISHED DUMP LAST LOAD TIME ALLOWED TO RETURN SAME AS NET RUNNING TIME LAST LOAD	E
105	COMMEN	VTS
100	12" Trasport Sk.	Isteer 262
525 54	act of seb	
	ann as cle	
	8 tan '/z" A	
	OFFICE US	EONLY
	TOTAL HOURS OR TONS	10.5
	RATE PER HOUR OR TON	\$
	SUB TOTAL	\$ 11260
Foot	SUR CHARGES	\$ 1000
	SALES TAX	\$
	BRIDGE FARE	\$
	STAND-BY CHARGES	\$
	TOTAL CHARGES	\$ 1,360
LADEN W	T. FUEL	
		.52 per hour 5 hrs = \$1,230.44
VALUE II DILLEN	FOR DAMAGES RESULTING ER	OM CHOU DEL WITTE

PONSIBILITY FOR DAMAGES RESULTING FROM SUCH DELIVERIES.

E(1) FEESTO PAY FOR REGULATION OF TRANSPOR-S BY THE CALIFORNIA CITIES INSTEAD OF EXCISE



1060 North Dutton Ave Santa Rosa, CA 95401-5011 (707) 576-8205 (707) 576-8204 Fax

Suppliers of Quality Aggregates & Asphalt

ACCOUNT NO. PIAZZA

SOLD TO Piazza Construction

P.O. Box 573

Penngrove , CA 94951

INVOICE	162344
PAGE	1
DATE	8/31/2022
TERMS	NET 25th

Locat	ons: 1=Mark	West, 2=For	estville, 3=Aspl	nalt Plant	<u>Description</u>		PLEASE RETURN THIS PORTION WITH YOUR PAYMENT									
Loc.	Date	Ticket	Order	PO	Product	Qty	Mat Rate	erial Amount	Surcharge Amount	Tax Amount	Fee Amount	Total				
3	8/30/2022	351032		Leland, Seba	1/2" Asphalt	8.00	72.00	576.00	144.00	66.60	11.60	798.20				
Subtot	al					8.00 T	on _	\$576.00	\$144.00	\$66.60	\$11.60	\$798.20				
Invoid	e Total					8.00		\$576.00	\$144.00	\$66.60	\$11.60	\$798.20				
								Total I	nvoice	>		\$798.20				



General Engineering Contractor

Lic. No. 406456 • P.O. Box 573 • Penngrove • CA 94951 • (707) 876-3410

City of Sebastopol August 30, 2022

714 Johnson Street Sebastopol, CA 95472

Project Name: First Street Water Main - Remove Existing Valve

Invoice No.: 2022-512-105

Date	Description	Bill No.	Aı	mount
8/10/2022	Sawcut and uncover valve, tie in new pipe section, backfill with CDF	16.0		5,115.17
	Total Due		\$	5,115.17

Additional contract days requested: 1

James A. Piazza
Piazza Construction

				.,									
City Of Sebasto	pol						Contract:	512		Change O		007	
Contractor Job: FI	RST ST - First Street Wa	atermain Replacemer	nt							Billing Nun		16.0	
Work Performed By: Pi										Report Dat		8/29/2022	
Description of Work: Sa	awcut And Uncover Valve / Tie	In New Pipe / Backfill With	CDF							Perform Da	ate ————	8/10/2022	
Labor Charges											Labor Cha		
Craft/Level	Employee Name		RT Hrs	OT Hrs	Subs Units	RT Rate	OT Rate	Subs Rate	Extended	RT Labor		2,359.92	
L01 OE O4	B Centeno		8.00			84.260			674.080	SC	10.00%	235.99	
L02 OE 13	AP Ecklund		8.00			62.940			503.520	OT Labor		0.00	
LO3 OE O3	G Engelke		8.00			85.640			685.120				
L04 OE 14	M Pastrana		8.00			62.150			497.200	Subtotal L	abor	2,595.91	
Equipment Char	ges									Subsisten	ce	0.00	
Equipment ID	Class Make Model	A1 A2	RT Hrs	OT Hrs		RT Rate	OT Rate	Delay Factor	Extended	Other Exp		0.00	
E01 EX06	HCECL DEER 50DZ		4.00			35.150			140.600	ми	15.00%	389.39	
E02 DT01A	TRUON TRUN 3AXL		4.00			67.690			270.760	Labor Tota		2,985.30	
E03 PT08	TRUCK T&TT 06-12		8.00			28.650			229.200				
E04 PT07	TRUCK T&TT 06-12		8.00			28.650			229.200] E	quipment (-	
E05 PT01	TRUCK T&TT 06-12		2.00			28.650			57.300	Subtotal		927.06	
Material/Speciali	ist Work/Lump Sum or	Unit Price Payment								MU	15.00%	<u>139.06</u>	
Number	Date Vendor Name and	_				Un	nits	Unit Price	Extended	Equipmen	t Total	1,066.12	
M01 00	8/10/2022 Piazza Construc	tion / CDF - Concrete Truc	k And Driv	er Cost		1.00	00 LS	925.00000	925.00		Material C	`harnes	
										Subtotal	matoria: O	925.00	
										MU	15.00%	138.75	
										Material T	otal	1,063.75	
										Activity To	otal	5,115.17	
												<u> </u>	
										Work Tota	al	5,115.17	
										Dill Cubto	tal .	E 11E 17	
				1						Bill Subtot	ıaı	5,115.17	
	For Owner/Resident Eng	ineer's Use Only			Accepted:								
New Bill	Approved for Payment	Date of Action:			Customer:			Date:					
Resubmit	tal Returned for Correction	Date Received:										5,115 17	
		240 110001100.			Contractor:			Date:				of54 1 15.17	
NTS Universal Bill Forn										Page 1		www.ewbills.com	



Extra work

Job Nan	sor Austin	ive Sebastop	00	T&M: Yes	- No
Supervis	sor Avsth	According to the control of the cont			L
Date	6/10/22	Work Start Time	7.30	Lunch 12-12:30 Work End Time	7.00
Employe	ees	Hours	Employe	es	Hours
00	James Piazza, Sr.		24	Vince Carmona	
01	Joe Bell		26	Salvador Carmona	
02	Mitch Starkey		27	Craig Soto	
03	Jared Piazza		29	Jacob Pierce	
04	Cary Hendrickson	*	32	Dante Fountain	
06	Joe Matassarin		33	Andy Cheda	
07	James Piazza, Jr.		35	Max Cerini	
08	Joel Piazza		37	Rudy Martinez	
10 🍖	Bobby Centeno	8	38	Jose Garcia	
11	David Garrigus		39 •	Gary Engelke	8
12	John Anderson		42	David Urrutia-Albavera	
14	Rebhey Hammoudeh		43	Juan Villagomez	
15 🥏	Austin Ecklund	В	44	Mike Roberts	
16	Kody Starkey		45 🏚	Mauricio Pastrana	8
21	David Schaefer		1	Wester	3
23	Jose Galvez				
Materia	ls & Credit Card Purchases:		Notes:		
Wateria	is & credit card Furchases.		Notes.		
			-		
			-		
			 		
F		Īu			Hours
Equipme BH		Hours	Equipme DT		nours
C. 24000	Backhoe	4		2 Axle Dump	13
EX OG	Excavator	1	DTO I	3 Axle Dump	9
SS	Skid Steer	1	PIOS	Crew Truck	9
	concrete truck		101	Crew truck	2
			PIUI	Liew truck	2
		Subco	ntractor		
 					
		Work P	erformed		
Saw	revt and unlove	rd volve	N N		
tied	in new pape 1	Covert			
Added			3"		
	steel nipple	1 - 11 1 5			
-				C DC	
TOPP	ied off finit	tic -IN "	nth	CDF	

Timecards and tags are to be emailed to PiazzaPC03@gmail.com Hard Copies of timecards and tags are due Wednesdays.

Sebastopol First Street Watermain Replacement

Project Closout - Final Quantities and Over/Under-Runs

				Piazza		Actual Installed		Di	fference	
No.	Item Description	Quantity	Units	Unit Cost	Total Cost			="		
1	Mobilization, Bonds, Insurance	1	LS	\$8,825.00	\$8,825.00	1			0	\$0.00
2	Water Pollution and Erosion Control	1	LS	\$2,933.00	\$2,933.00	1			0	\$0.00
3	Temporary Traffic Control	1	LS	\$11,500.00	\$11,500.00	1			0	\$0.00
4	Shoring and Trench Safety	1	LS	\$1,000.00	\$1,000.00	1			0	\$0.00
5	Dewatering	1	LS	\$500.00	\$500.00	1			0	\$0.00
6	10" Water Main	496	LF	\$262.00	\$129,952.00	412			-84	-\$22,008.00
7	10" Gate Valve	5	EA	\$3,115.00	\$15,575.00	5			0	\$0.00
8	Connecto to Existing Water Main	2	EA	\$7,555.00	\$15,110.00	2			0	\$0.00
9	Abandon Water Main	1	LS	\$2,830.00	\$2,830.00	1			0	\$0.00
10	10"x10"x10" Tee on Zone 2 Water Main	1	LS	\$12,880.00	\$12,880.00	1			0	\$0.00
11	3/4" Water Service	4	EA	\$2,280.00	\$9,120.00	5			1	\$2,280.00
12	Restoration of Pavement Striping and Markings	1	LS	\$3,825.00	\$3,825.00	1			0	\$0.00

\$214,050.00 -\$19,728.00